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Question Number : 1 Question Id : 97675530639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After arranging the given words according to dictionary order, which word will come at ‘third’ position?
1. RETAIN

2. RESIST

3. RELATE

4. REVEAL

5. REWARD

Options :

1. ¥ REWARD
2. % REVEAL
3. ¥ RETAIN

4. % RESIST



Question Number : 1 Question Id : 97675530639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 770 T3] B T ¥ & SUR TAfYd HRA o YT, DI IT Ueg R’ I TR ST
1. RETAIN

2. RESIST

3. RELATE

4. REVEAL

5. REWARD

Options :

1. ®* REWARD
2. * REVEAL
3. ¥ RETAIN
4. = RESIST

Question Number : 2 Question Id : 97675530640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
BJC, FOIL, JTM, NYU, RDA

Options :
1. * FOI
2.¥ JTM
3. % NYU
4. = RDA

Question Number : 2 Question Id : 97675530640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T B, Ford ¥ U ug 7T ¢ | faU 7Y fawed! & 9 39 7Tad g & gHu|
BIC, FOI, JTM, NYU, RDA

Options :



1. # FOI
2. ¥ JTM
3. ®* NYU
4. = RDA

Question Number : 3 Question Id : 97675530641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ALST, DOVW, GRYZ, JUBC, ?

Options :

1. ¥ NWAD
2. % OXBE
3. ¥ MXEF
4. % PYCF

Question Number : 3 Question Id : 97675530641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ALST, DOVW, GRYZ, JUBC, ?
Options :

1. * NWAD

2. % OXBE

3. ¥ MXEF

4. % PYCF

Question Number : 4 Question Id : 97675530642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
SF20, Z036, GX26, NG16, UP31



Options :

1. * NGl16
2. % GX26
3. # SF20
4. ¥ UP31

Question Number : 4 Question Id : 97675530642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T 8, Ford ¥ U ug 7ad ¢ | faU 7Y fawed! o 9 39 7Tad g & gHu|
SF20, Z036, GX26, NG16, UP31

Options :

1. ® NGl6
2. % GX26
3. * SF20
4.+ UP31

Question Number : 5 Question Id : 97675530643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
MK :OM: GT:?

Options :
1. *= IU
2.9 1V
3. % HV
4. % HU

Question Number : 5 Question Id : 97675530643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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MK :OM :: GT :?
Options :

1. % U

2.9 1V

3. % HV

4. % HU

Question Number : 6 Question Id : 97675530644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
GKL : NMI :: FOG : ?

Options :
1. ® THQ
2. ¥ IQH
3. % HQH
4. % HRI

Question Number : 6 Question Id : 97675530644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o 3w e fawenl & § Tefda sieri &) gfu|
GKL : NMI :: FOG : ?

Options :

1. * THQ

2. ¥ IQH

3. * HQH

4. = HRI

Question Number : 7 Question Id : 97675530645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letters from the given alternatives.
POK : NLK :: RGM : ?

Options :
1. % PTH
2. ¥ PTI
3. ¥ PUI
4. % TPI

Question Number : 7 Question Id : 97675530645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafeRad vy @ fau e famedl O @ Tefid sierl & gl
POK : NLK :: RGM : ?

Options :

1. ®* PTH

2. ¥ PTI

3. ¥ PUI

4. % TPI

Question Number : 8 Question Id : 97675530646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
TRIP : QKUX :: ?

Options :

1. ¥ FROM : NQUJ

2. ®* GARP: HCUT

3. ¥ HABT : UCDL

4. % LONG : HPRO

Question Number : 8 Question Id : 97675530646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & i 77T fowedl § 9 e sfeR g &l gHu|
TRIP : QKUX :: ?

Options :

1. ¥ FROM : NQUJ

2. % GARP : HCUT

3. ¥ HABT : UCDL

4. % LONG : HPRO

Question Number : 9 Question Id : 97675530647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FIGURE’ is written as ‘GTWIKH’, ‘GROWTH’ is written as ‘JVYQTI’. What is the code for ‘HONEST” in that
code language?

Options :

1. % VUHPRIJ
2. ¥ VUGPQJ
3. % VUGOQIJ
4. % VOGPRIJ

Question Number : 9 Question Id : 97675530647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy B8 HIWT H, ‘FIGURE’ &1 ‘GTWIKH’ foRal ST 8, ‘GROWTH® &Y <JVYQTI foRaT ST 81 39 IS HINT H ‘HONEST’ BT B
T2

Options :

1. % VUHPRJ

2. ¢ VUGPQJ

3. % VUGOQJ

4. % VOGPRJ

Question Number : 10 Question Id : 97675530648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘It is summer’ is written as ‘9 5 6°, ‘That is Radha’ is written as ‘6 4 7°, ‘Radha sing well’ is written as ‘3 7 2’, ‘Rama
like summer’ is written as ‘1 8 5°. What is the code for ‘It that like’ in that code language?

Options :
1. % 945
2.9948
3. 496
4. %958

Question Number : 10 Question Id : 97675530648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁmm ‘J-I'I'ElTﬁ, It is summer’ T 9 5 6’ %ET\_FI'IHT%, “That is Radha’ b1 ‘6 4 7’ ]%RQT\_SI'IHT%, ‘Radha sing well’ &I <3 7 2’ forar SIran
%’, ‘Rama like summer’ &1 ‘1 8 5° ﬁ‘l"@T\_rl'lT‘lT%I sﬂﬁg YTST H “It that like’ Wﬁ@;w%‘)

Options :

1. % 945

2.9948

3.% 496

4. % 958

Question Number : 11 Question Id : 97675530649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Ram Man Sita Woman’ is written as ‘8 7 6 5°, ‘Sonu Boy Man Woman’ is written as ‘2 5 9 7°, ‘Sonu Is Gentle Man’
is written as ‘3 4 2 5°. What is the code for “‘Woman Boy Gentle’ in that code language?

Options :
1.¥793
2.% 753
3. % 895
4. % 795



Question Number : 11 Question Id : 97675530649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁmm ‘J-lTQTﬁ, ‘Ram Man Sita Woman’ &1 ‘8 76 5’ m\_ﬂ?ﬂ%, ‘Sonu Boy Man Woman’ B 2597 WTGTIHT%, ‘Sonu Is Gentle
Man’ablf‘342S’WTGH?IT%Isﬂmﬂ-ﬂmﬁ‘WomanBoyGentle’Wm?ﬂT%?

Options :

1.¥793

2.% 753

3.% 895

4, %795

Question Number : 12 Question Id : 97675530650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘LAYOUT" is written as ‘QWOVCL’, ‘OBTAIN’ is written as ‘KKAQDQO’. What is the code for ‘SHOWER’ in that
code language?

Options :

1. # OGVLIJS

2. % OGWMSJ
3. ¥ OGWLIJS
4. % OFWLJT

Question Number : 12 Question Id : 97675530650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY B8 HIWT H, ‘LAYOUT’ & «QWOVCL’ foRaT ST 8, ‘OBTAIN® B ‘KKAQDO’ foral SIdT 81 39 g WIS | ‘SHOWER® 1
DS FAT?

Options :

1. % OGVLJS

2. % OGWMSJ

3. ¢ OGWLIS

4. % OFWLIT



Question Number : 13 Question Id : 97675530651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MACHINES’ is written as ‘14124818142219°, ‘NAGATIVE’ is written as ‘1312017955°. What is the code for
‘ORIGINAL’ in that code language?

Options :

1. % 121819718142612
2.9 121818718142612
3. % 1218186181466212
4. % 1220187118162412

Question Number : 13 Question Id : 97675530651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy ®rs U H, ‘MACHINES’ & <14124818142219° feRaT SIAT 8, ‘NAGATIVE’ &1 <1312017955” foRaT ST 8| §9 e ST o
‘ORIGINAL HT HIS FIT 2

Options :

1. % 121819718142612

2. ¥ 121818718142612

3. % 1218186181466212

4. % 1220187118162412

Question Number : 14 Question Id : 97675530652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five articles J, K, L, M and N are kept one above the other (not necessarily in the same order). L is kept just above N and just below J. K is four
places below J.
How many articles are kept between K and N?

Options :
1. %2
2.%0
3.%3



4.¥ 1

Question Number : 14 Question Id : 97675530652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
u"ma:%ié,&L,Mame$wwv@w%mqﬁ§mwﬁ)|L,N%MWan$?ﬂ$=ﬂ%T@ﬂﬁ%|K,J@f%ﬂ?
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Options :

1. % 2

2.%0

3.%3

4.9 1

Question Number : 15 Question Id : 97675530653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boys C, D, F, G, H, J and K like one car among C1, C2, C3, C4, C5, C6 and C7 (not necessarily in the same order). No two boys like same
car. H likes C3. G likes a odd numbered car. F likes C4. C doesn’t like a even numbered car. K likes C5.

Which of the following combination of car — boy is correct?

.C2-1J

II. C7-C

Options :

1. ® Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 15 Question Id : 97675530653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % HAd I
3. % [QUT I gl
4. IR

Question Number : 16 Question Id : 97675530654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students P, Q, R, S and T likes one shirt among A, B, C, D and E (not necessarily in the same order). They also like one trouser among T1,
T2, T3, T4 and TS5 (not necessarily in the same order). No two students like same shirt and same trouser. One who likes T3, also likes B. R
doesn’t like T4, T5 and T3. Q likes C. Both P and S do not like B. One who likes E, also likes T1. Both R and S do not like T1. Q doesn’t like
TS.

Which of the following combination of trouser — shirt — student is correct?

. TA-D/A-R

II.T4A-C-Q

. T1-C-P

IVT3-B-T

Options :

1. # Il and III

2. % Only II

3.% Iand IV

4. % Only III

Question Number : 16 Question Id : 97675530654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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. T4-D/A-R
ILT4-C-Q
IILT1-C-P
IV.T3-B-T
Options :
1. ® [19YTIII
2. % Had I

3. IIAYTIV

4. % Had I

Question Number : 17 Question Id : 97675530655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 boys A, B, C, D, E, F, G and H are sitting in a row facing towards north (not necessarily in the same order). B is fourth to the left of G. E is to
the immediate right of F. D and H are immediate neighbours. Minimum 4 boys are sitting between H and A.

If C and F are the neighbour of B, then which of the following statement is correct?

I. Minimum 3 boys are sitting between D and E

II. B is third to the left of A

III. G and E are the immediate neighbours of A

Options :

1. * Il and III
2. % Tand III
3.9 [, Il and III
4. % JTand II

Question Number : 17 Question Id : 97675530655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® I dYUTIII
2. % T dYTIII
3.9 1 I AT 1T
4, % 1dYTII

Question Number : 18 Question Id : 97675530656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘P @ Q’ means ‘Q is the mother of P°, ‘P % Q’ means ‘Q is the son of P’, ‘P # Q’ means ‘Q is the sister of P’, ‘P + Q’ means ‘Q is the father
of P’, ‘P — Q’ means ‘Q is the brother of P’.

Which of the following statement is not correct about ‘H% R—-S+ V#Q @ G’?

I. Q is the sister of the husband of H

II. V and Q are the sons of G

III. Q is the aunt of S only

IV. H is the mother of S

Options :

1. #* I, I and IV

2. % Iland IV

3. % Il and III

4. % I II, IIT and IV

Question Number : 18 Question Id : 97675530656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % LIIaYT IV

2. % [IAUTIV

3. ¢ 11T

4. % LI I TUTIV

Question Number : 19 Question Id : 97675530657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some M are T.

II. Some A are M.

Conclusions:

[.NoTis A.

II. Some T are M.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 97675530657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % had (s [ 3ER0 T §

2. ¢ I DY 11 SRV BT §

3. % G FShY [ T 11 SFJAR0T 6%l &
4. % B8 i Fepy SrERUr el BT 8

Question Number : 20 Question Id : 97675530658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some F are B.

II. All G are F.

Conclusions:

I. Some B are G.

II. No G is B.

III. Some B are F.

Options :

1. # Both conclusion I and II follows

2. ® Both conclusion I and III follows

3. % Both conclusion II and III follows

4. ¥ Only conclusion III follows

Question Number : 20 Question Id : 97675530658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Q! F5BY 1 YT 1T SRRV $HRd &
2. % QI FSHY [ T 111 SFRUT 3 §
3. % ST F5BY 11 TUT 111 3R Hvd §
4.« Had (B [11 TRV BT §

General Ability2
Group Number : 2
Group Id : 976755903
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 9767551333
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551556
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675530659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some R are P.

II. All Q are M.

III. Some R are Q.

Conclusions:

I. Some M are R.

II. No P is Q.

III. Some Q are R.

Options :

1. # Both conclusion I and II follows

2. ¥ Both conclusions I and III follow

3. % Only conclusion III follows

4. % All conclusion follows

Question Number : 21 Question Id : 97675530659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fsep: .

L. $S M, REI

H.%lﬁgQ%‘ﬁl

III. $S Q, R B

Options :

1. % QI FT5BY 1 T 11 3FIERU $H1d &
2. ¢ QI FISHY [ T 111 RT3l &
3. % Had sy 111 3R Hal §

4. % Jft fFrepef S R v §

Question Number : 22 Question Id : 97675530660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

[.NoFisV.

II. Some S are A.

III. Some V are A.

Conclusions:

I. Some A are not F.

II. Some A are V.

III. Some A are S.

Options :

1. % Both conclusion I and II follows

2. % Only conclusion III follows

3. % All conclusions follow

4. % Neither conclusion follows

Question Number : 22 Question Id : 97675530660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Q! F5BY 1 T 11 SRR HRd &
2. % Had 5HY [11 3IERU BT §

3. ¢ gt Frsp e SR A §

4. % I3 U Iy SR T8l HraT §

Question Number : 23 Question Id : 97675530661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. No table is wood.

II. Some wood are door.

III. No table is red.

Conclusions:

I. Some red are table.

II. Some door are not wood.

III. Some wood are not table.

Options :

1. #® Both conclusion I and II follows
2. % Only conclusion II follows

3. # Neither conclusion follows

4. ¥ Only conclusion III follows



Question Number : 23 Question Id : 97675530661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 foU T Uy T 58 U 3R 39D 918 31 Bl R SR & (bt U MU g1 3T Tyl &1 9! 4M, 31e 374 AH 1 a2t
3 forzrar 81t e o oik fsR fReifa & 6 fou o o1 3 s, fou U syl & sMuR &R gfaasa g

HY:
1. 3 f A9 adh e Tol &
Il $6 Ahal GRarT g |

111 B8 +ft O A TS 2l
frsep:

1. $3 A A1 g

II. $S adIol b el Tal g

1. $© Ahal Aol el g

Options :

1. % QI FIShY [ T 11 38R $H1d §
2. % Had BN 11 IR0 Hl §

3. % Pg o FTshY TR 98! FRal §
4.« $Had FTSHY [11 TR0 HRAT §

Question Number : 24 Question Id : 97675530662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 164 - 145
2. % 231-212
3. % 189-170
4.+ 344 - 326

Question Number : 24 Question Id : 97675530662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

R RTTT Uy, IR Jom gw Ru MU 1 () & It 3R & 7w/ () & ol 3R & 7S e @ fpt adh um/ddy @ gefta g1 e
I TH qoh/Mgr/AEy & YR IR 90 g | 3T 78 fawen & ¥ fawd &1 gfu|

Options :

1. % 164 - 145

2. % 231-212

3. % 189-170

4, 344 - 326

Question Number : 25 Question Id : 97675530663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

8
10
2

54| 7 | 87

| |
S| | O

Options :
1. #= 248
2.9 326
3. % 146
4. % 98

Question Number : 25 Question Id : 97675530663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad us o fau e faemet & 9 uy g (2) o RIM WR 3 dTell S=A1 &1 g
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Options :
1. #= 248
2.9 326
3. % 146
4. % 98

Question Number : 26 Question Id : 97675530664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
926, 931, 941, 967, 1017, 1138

Options :
1. ¥ 1138
2. % 941
3. % 1017
4. % 967

Question Number : 26 Question Id : 97675530664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fear T 8, ford § U ug Tad ¢ | 3 T fawed! & 9 39 e ue &I gfu|

926,931, 941, 967, 1017. 1138
Options :

1. ¥ 1138

2. % 941

3. % 1017

4. % 967



Question Number : 27 Question Id : 97675530665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If13A8B14C7=97and 15A9B16C11=130,then23 A4B56C32=7?
Options :

1. % 78

2. % 96

3. ¥ 68

4. % 154

Question Number : 27 Question Id : 97675530665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZlﬁBASB14C7=97?‘[21T15A9B16C11=130E?f,?‘ﬁ23A4B56C32=?
Options :

1. % 78

2. % 96

3. ¥ 68

4. % 154

Question Number : 28 Question Id : 97675530666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Car, Vehicle, Sharpener

©

Options :




(0)o
@D

Question Number : 28 Question Id : 97675530666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 3RW g ot - fau U a1 & ol & Ay o1 Tg! ey Hrar g |
HR, a8, AR

Options :

3.¢




(0)o
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Question Number : 29 Question Id : 97675530667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many total tables are there?

3.¢




Chair

// X
19/ 9 \
7 14 13\
/

Table \ Sofa

Options :
1. ¥ 39
2. % 26
3. % 37
4. % 29

Question Number : 29 Question Id : 97675530667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

od A foba1 82
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/ N
Vi 14 13\
/
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Options :
1. ¥ 39
2. % 26
3. % 37
4. % 29

Question Number : 30 Question Id : 97675530668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is correct?

I. Number of car which are pink and white both are 9.
II. Total number of white are 56.



Pink [ White

|/910

114 16 8 3

NERZ

Car — ———
13
Options :
l. % Only I
2. % Only I

3. % BothIandII
4. % Neither I nor I1

Question Number : 30 Question Id : 97675530668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa8 U 39 3T & MYR W, FAHfeRad # ¥ &9 I By I8! 82
. 98 HR S Tamel 9UT Johe Gl €, B B9 &

I TG &1 Hd AT 56 § |




11( 16 & 3

13

Options :

1. % FHadl
2. % Had Il
3. % [ UGl
4. TRIIATRII

Question Number : 31 Question Id : 97675530669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is incorrect?
I. Number of square which are not rectangle are 13.
II. Number of circle which are only rectangle are 9.



Square

8
10 9 15 113
/ 16 / 4
Circle
Rectangle

Options :

1. % Only I
2. % Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 31 Question Id : 97675530669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&0 7T 9 3R & YR WR, FAufeifEd & 9 o 91 Y el T8 52
1. 98 971 Sl 3119d T81 3, 1 =T 13 |
1. 98 I Sl had 3114d &, BT ASAT9 § |



10 9 15 JL3

757 3

q

Options :

1. ¢ $Had |
2. % HAdII
3. % [ UGl
4. % qEIIATR I

Question Number : 32 Question Id : 97675530670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is incorrect?

I. Number of cycle which are neither bottle nor land are 16.
II. Number of bottle which are land are 15.



Bottle

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 32 Question Id : 97675530670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foR T 3 3R & SMYR W, FAufafEd & & 1 HF el gl 82
1. 98 W13l off 1 81 didd & AT 8l YA §, B I 16 § |
I1. 98 Sidd off YA §, & T 15 B
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Options :

1. % PHadl
2. ¥ Had Il
3. % [ QUTI M
4. % 1B

Question Number : 33 Question Id : 97675530671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

—<bD Y

Options :



3.¢

Question Number : 33 Question Id : 97675530671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy o fau e fawed! & 9 vy feg (2) o RIM WR 3 arelt 3fipfd &1 |
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Question Number : 34 Question Id : 97675530672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

[ ] [ ] ® @
.. ..I' L ]
ool o ® Olg o
- o e o09|® @ ::.-.
Options :
@ e @
.I. [ ]
1. #
@
.I
e @
2. ®
® Ol o
I....
3 % [ I




4.9

Question Number : 34 Question Id : 97675530672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRRad uy 9, < Tt e & I 7Td i @ gl

& ® e o
.. -.i L]
eoele o |® ®ig o
- - » s o089 |® @ ::I-.
Options :
L ® @
.Il L ]
1. %
®
.I
L ]
2. %
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3 % [

o900 |® @

o908 |® @
4. &

Question Number : 35 Question Id : 97675530673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figures on the right of (::) from the given
alternatives based on the same logic/rule/relation.

7

Le-

Options :




Question Number : 35 Question Id : 97675530673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
() o 1T SR <1 7t @Y Sirepfera fopt ch e ey & Wafere 81 e 7 fashedl 7 9 (1) & <l 3R WA dieh o /ise TR eireka
qu il &1 g |

7

Le-

o0

Options :



1. ®

Question Number : 36 Question Id : 97675530674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :



1. ®
AWM[[
R
b
2. %
i

Question Number : 36 Question Id : 97675530674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad us o, fau e fasmedl & 9 fawd siepfd &1 gl

Options :




QIM[[

K
2

Question Number : 37 Question Id : 97675530675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

=

Options :

A

L A




2.¢¥

3. %

]

Question Number : 37 Question Id : 97675530675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ®

2.¥

25
B
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Question Number : 38 Question Id : 97675530676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given below. What will come opposite to faces containing ‘E’ and ‘R’ respectively?

Options :
1.%P§$
2.% P %
3.3, P
4. % %, S

Question Number : 38 Question Id : 97675530676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T U Bt i SfawTd <RI T € 1 HERT: B’ 9UT ‘R’ g Bad! o [URId T ST



Options :
1.%¥PS§
2. % P, %
3.8, P
4. % %, S

Question Number : 39 Question Id : 97675530677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
1. % 13
2.9 14
3. % 15
4. % 16



Question Number : 39 Question Id : 97675530677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q2 el # fora Tqie &

Options :
1. % 13
2.¥ 14
3. % 15
4. % 16

Question Number : 40 Question Id : 97675530678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles and quadrilaterals are there in the given figure respectively?



Options :
1. % 7,6
2.% 7,5
3.9°6,5
4. % 6,6

Question Number : 40 Question Id : 97675530678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 712 3nepfa & R fhdm Biys aur agqus &7

Options :
1. % 7,6



2.% 7.5

3.4°6,5
4. % 6,6
General Awareness1
Group Number : 3
Group Id : 976755904
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1
Section Id : 9767551334
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551557
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675530679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which state ‘Konark Sun temple’ is located?
Options :

l. # Assam

2. ¥ QOdisha

3. % Tamil Nadu

4. % Madhya Pradesh

Question Number : 41 Question Id : 97675530679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pl G HieR fope e # fRyd 52
Options :

1. % 3qH

2. 3NfeEM

3. % g

4. % ALY

Question Number : 42 Question Id : 97675530680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a stringed instrument?
Options :

1. # Violin

2. ® Sitar

3. ¥ Musical bow

4. ¥ Bugles

Question Number : 42 Question Id : 97675530680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &1 91 U dg o 39 781 82



Options :

1. % grgfeH

2. % AR

3. % GqEy 4y
4.

Question Number : 43 Question Id : 97675530681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of state — monument is correct?
[.Tamil Nadu - Gingee Fort

II. New Delhi - Chitradurga Fort

II1.Rajasthan - Gagron Fort

Options :

1. % Only I
2. % Tand III
3. % Il and III
4. % Only III

Question Number : 43 Question Id : 97675530681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - RS H1 gfeied & ¥ oH 91 3w 98l 82
1. TfHe TG - ofoit fobetm

IL. H‘s‘ﬁﬁﬁ ferrgT fopet

T11. TSI — TR fdoem

Options :

1. % a1

2.9 1 dYUT I

3. % 1 dUT 11
4. % Had III



Question Number : 44 Question Id : 97675530682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dance belongs to Jharkhand.

Options :

1. # Khoria
2. ¥ Paika
3. # Karaga

4. # Swang

Question Number : 44 Question Id : 97675530682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IO RIS J Gaftd B

Options :
1. % QA
2. ¥ UTZH
3. % T
4. % WM

Question Number : 45 Question Id : 97675530683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chumpha festival is associated with which state?
Options :

1. # Bihar

2. % Manipur

3. % Gujarat

4. % Kerala

Question Number : 45 Question Id : 97675530683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TR ITd o Iod O Teferd g2

Options :

1. % f9gr

Question Number : 46 Question Id : 97675530684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the percentage of deposits which a bank must keep as cash reserves with itself is called?
Options :

1. # Statutory Liquidity Ratio

2. % Bank Rate

3. % Repo Rate

4. ¥ Cash Reserve Ratio

Question Number : 46 Question Id : 97675530684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 1 U M ufimrd il d6 &l T SR A & &0 1 @1 31axd e gid1 & 39 1 H5d 67
Options :

1. % YT aRdT U

2. 8 §F R

3. % AR

4. ¢ TGS DY U (1 eord 32Mm)

Question Number : 47 Question Id : 97675530685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Industrial Policy Resolution in India was adopted in

Options :
1. % 1948
2. %1950
3. % 1970
4. ¥ 1956

Question Number : 47 Question Id : 97675530685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T fifd o yRa o ¥ sitfiepR fopam T T
Options :

1. % 1948

2. % 1950

3. % 1970

4.9 1956

Question Number : 48 Question Id : 97675530686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GDP deflator =

Options :

1. ¥ Nominal GDP/Real GDP

2. ¥ Nominal GDP + Real GDP

3. # Nominal GDP - Real GDP

4. # Real GDP/Nominal GDP

Question Number : 48 Question Id : 97675530686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 81 O, Srawplifa® (FSie) =

Options :



1. ¢ Hifge Sff. ST, Ut /arafde St St d.
2. % e oft. ST, T, + arafde it S1. .
3. % Hifge off. ST . - IrRafdes ot 1. .
4. % qrdfiae oft. 81, Ot AHifse S S .

Question Number : 49 Question Id : 97675530687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the rate at which the Reserve Bank is ready to buy or rediscount bills of exchange or other commercial papers.

Options :

1. # Exchange rate

2. # Reverse repo rate
3. * Repo rate

4. ¥ Bank rate

Question Number : 49 Question Id : 97675530687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 R 8, o W Rord s fafe faedt ar s ity w3l &) ©kies) a1 sae & o dar B

Options :

1. % fafma R
2. % REATA R
3. % MR
4. dF R

Question Number : 50 Question Id : 97675530688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ina economy the goods produced are distributed among people not on the basis of what people need but on the basis of
purchasing power.

Options :
1. ¥ capitalist



2. % gocialist
3. ® mixed

4. ¥ both capitalist and socialist

Question Number : 50 Question Id : 97675530688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SrfegaRyT & IaTed axgafl &1 anTl § fqaR0r S| Sa=admdl & S8R Ao URg 3% $Hd &HdT & YR TR gid 5|

Options :

1. ¢ Yoitaral

2. % gOISArG]

3. % fofyq

4. % Goliardl qUT gATSIaTe!

Question Number : 51 Question Id : 97675530689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ground water stood between layers of hard rock below the water table is known as
Options :

1. ¥ aquifer
2. % well

3. % pond
4. % bawri

Question Number : 51 Question Id : 97675530689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NG TR & H1d RR H3R Addl ! Rl & g HiHold Bl P gl
Options :

1. ¥ JAWR

2. % FH3T




3. % dae
4. % gIas!

Question Number : 52 Question Id : 97675530690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a group of plant?
Options :

1. # Thallophytes

2. % Protochordata

3. % Bryophytes

4. ¥ Angiosperms

Question Number : 52 Question Id : 97675530690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed & & o a1 Uil &1 Ue a1 8l 52
Options :

1. % Rard

2. ¢ Uicidlsel

3. % SRpTSel

4. % o

Question Number : 53 Question Id : 97675530691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding energy is correct?

I Kinetic energy = (mv?)/2
II. Gravitational potential energy = mgh
II1. Power = energy used to do work

Options :
1.9 Tand II



2. % ITand III
3. % Tand III
4. % I, 1 and III

Question Number : 53 Question Id : 97675530691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St & e | Frafafad 3 3 o1 a1 wu= 98 32
1. TTfasT Solf = (mv2)/2

I1. TS g FRUFIST 3ot = mgh

111 R1G = B B H ST g5 ol

Options :

L.« Iddl

2. % IIdYTIII

3. % TdYTII

4, % I dYTIII

Question Number : 54 Question Id : 97675530692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding human eye is correct?
I. Light enters the eye through cornea.

I1. Iris controls the size of pupil.

II1. Eye lens forms an errect real image of the object on the retina.

Options :

l.¥ Tand II

2. % Il and III
3. % Tand III

4. % I, II and III

Question Number : 54 Question Id : 97675530692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A4 4 & Je # Fafifad © 9§ & 91 Hy- I8 82

1. THTR BT H GIhR 7 § T T g |

1. GRATRT, Gaeht & Tee ®I Fad FRel g
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Options :

1.« 1dYT I

2. ® 11 dUT I

3. % TdYTIII

4, % 1 I dUT I

Question Number : 55 Question Id : 97675530693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the first census was held in India?
Options :

1. % 1901

2.9 1872

3. % 1890

4. % 1921

Question Number : 55 Question Id : 97675530693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA § S0 b a8 I Ugall IR g5 &
Options :

1. #* 1901

2. ¥ 1872

3. % 1890

4. % 1921




Question Number : 56 Question Id : 97675530694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Northernmost range of Himalayas is called?
Options :

1. # Middle Himalaya

2. % Shivalik

3. ¥ Great Himalaya

4. % Naga

Question Number : 56 Question Id : 97675530694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferTera o) T IR H YT §T7all & 7T Had 72
Options :

1. % Hey fgATer™d

2. % fRrarfere

3. ¥ ggd fgdred

4. % A0

Question Number : 57 Question Id : 97675530695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding lithosphere is correct?
I. It is made up of rocks and minerals.

II. It is covered by a thin layer of soil.

II1. It is also a source of mineral wealth.

Options :

1. % Only I

2. % Il and IIT
3. % Only I

4, 1,11 and 11T



Question Number : 57 Question Id : 97675530695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRed 7 9 &1 91 Hu- RiaHsd & deH # ¥l 2
1. I8 I 3R Wiei § S 8T 8|

11. 78 o) &1 vach R A gHT BT 8|

111 I8 @Il JUal BT i Teh Wi 8|

Options :

1. % had |

2. % I dyri

3. % Had Il

4.« 111 YT I

Question Number : 58 Question Id : 97675530696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Earthquake waves is correct?
I. P-waves are longitudinal waves.
II. S-waves are transverse waves.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 58 Question Id : 97675530696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YU RN & e # Fafifed § 3 F 1 wyT 98 82
I P a sjed Al B

I S T S R g

Options :



1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 59 Question Id : 97675530697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the writer of Akbar nama?
Options :

1. # Faizi

2. ¥ Abul Fazl

3. % Todarmal

4. % Birbal

Question Number : 59 Question Id : 97675530697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHERAH & AGD DI U?

Options :

1. % Toolt

2. ¢ Add Whodd

3. % TS

4. % §REdA

Question Number : 60 Question Id : 97675530698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is correct?
I. Manuscripts — Stones
II. Inscriptions — Palm Leaf

Options :



1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 60 Question Id : 97675530698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o A P T T 98 82

1. FfEpE - TeR

11 31f¥yeRe Efepw) - drs oo
Options :

1. % Had I
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

General Awareness2

Group Number : 4

Group Id : 976755905
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2



Section Id : 9767551335

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551558
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675530699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is correct?
I. Child Marriage Restraint — 1929
II. Abolition of Sati Tradition - 1933

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. * Neither I nor II

Question Number : 61 Question Id : 97675530699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T T 9e 82

1. 9Tat faarg ey - 1929

1. Tl 9T &bl Ia - 1933
Options :

1. ¥ $Had |

2. % BHad I



3. % 1dUT Il
4. % qIEIIATSIII

Question Number : 62 Question Id : 97675530700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Mughal ruler ruled during 1658-1707?
Options :

1. # Jahangir

2. ¥ Aurangzeb

3. # Shah Jahan

4. ¥ Humayun

Question Number : 62 Question Id : 97675530700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1658-1707 & SR by T U + A faar um
Options :

1. % SghiR

2. ¢ RO

3. % RITESET

4. % gAY

Question Number : 63 Question Id : 97675530701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Gandhi Ji withdrew the Non-Cooperation Movement.

Options :
1. #1919
2.9 1922
3. % 1931



4. % 1916

Question Number : 63 Question Id : 97675530701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 1Tl S 3 g Sfica arug o for ol

Options :
1. % 1919
2.9 1922
3. % 1931
4. % 1916

Question Number : 64 Question Id : 97675530702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has never won the Miss World title?
Options :

1. % Reita Faria

2. # Yukta Mookhey

3. ¥ Manushi Chhillar

4. ¥ Gul Panag

Question Number : 64 Question Id : 97675530702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed 7 3 fram firg 9 o (e s Tt shar 2
Options :

1. % 31 iR

2. % ol gl

3. % Aol foer

4. % [ U1



Question Number : 65 Question Id : 97675530703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of a new security feature on Google Map which gives ‘off-route alerts’?
Options :

1. % Stay on Route

2. % Stay Safer

3. # Route Alerts

4. % Safer Route

Question Number : 65 Question Id : 97675530703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HOH TR Ueb 78 YR&/ AT T 14 1 8 Ol '3t e &l 82
Options :

1. % ¥ AT

2. ¢ W IR

3. % &C 3facy

4. % Y EC

Question Number : 66 Question Id : 97675530704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘Turbulence and Triumph: The Modi Years’?
Options :

1. ¥ Rahul Agarwal and Bharathi S Pradhan

2. # Ramchandra Guha

3. % Vikram Seth

4. # Rajiv Dogra

Question Number : 66 Question Id : 97675530704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TY TS TAh: € A 3R’ GXId & oG DI g7
Options :

1. ¢ JTgA SFTATd 3R YR T, e

2. % A T

3. % fapu s

4. % IS SR

Question Number : 67 Question Id : 97675530705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many members did NATO have as on 1st April, 20207
Options :

1. % 28

2.9 30

3. % 35

4, % 25

Question Number : 67 Question Id : 97675530705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 3 2020, B T, T. . 3. (NATO) & fobda Je=g &7
Options :

1. % 28

2.9 30

3. % 35

4, % 25

Question Number : 68 Question Id : 97675530706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who has won the Dan David Prize 2021 under the present category?
Options :

1. ¥ Dr. Anthony Fauci

2. # Prof. Katharine Park

3. % Dr. Carl June

4. % Prof. Keith Wailoo

Question Number : 68 Question Id : 97675530706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 9uft & dgd oSS TRBR 2021 fHgA Sfidr g2
Options :

1. ¢ ST T it

2. % U1 HUH Uh

3. % BT T o

4. % L HIY A

Question Number : 69 Question Id : 97675530707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which picture has won the Best film award at the Oscars 2021?
Options :

1. # The Father

2. % Nomadland

3. % Mank

4. ¥ Minari

Question Number : 69 Question Id : 97675530707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore fUgeR 7 3R 2021 B TA9S Uhed &1 [HR il 82



Options :

1. ® fg By
2. ¢ AHSdS
3. % AP

4. % AR

Question Number : 70 Question Id : 97675530708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as the global brand ambassador of Levi’s in February 20207
Options :

1. # Kangana Ranaut

2. # Taapsee Pannu

3. ¥ Anushka Sharma

4. ¥ Deepika Padukone

Question Number : 70 Question Id : 97675530708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRAST 2020 B At & Afi TS Tawer & ¥ H ford) g fasan mam g2
Options :

1. % BTG

2. % QIO U3

3. % 3FHI IHT

4. ¢ QfU®T aIgHIT

Question Number : 71 Question Id : 97675530709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has been roped in as the brand ambassador for Great Learning in September 20207
Options :



1. # Shreyas lyer
2. % Virat Kohli

3. % Rohit Sharma
4. # Rishabh Pant

Question Number : 71 Question Id : 97675530709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RrdaR 2020 & Te AT & o s Towex & &9 H g g1 T g2
Options :

1. % 979 3R

2. ¢ faRTe Dl

3. % Afga i

4. % BYY UJ

Question Number : 72 Question Id : 97675530710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state government has launched the Udyam Sarathi app?
Options :

1. # Odisha

2. % West Bengal

3. % Uttar Pradesh

4. % Madhya Pradesh

Question Number : 72 Question Id : 97675530710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o o9 DR A I&uH AR U a1 foa g2

Options :

1. % 3nfgEm




2. % gigw S
3.« IR UCY
4, % ALY YT

Question Number : 73 Question Id : 97675530711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
schedule of the Indian Constitution deals with the state.

Options :
1. ¥ First
2. % Second
3. # Third
4. # Fourth

Question Number : 73 Question Id : 97675530711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YReTg Gfgem ot 3T I | el B
Options :

1. ¢ Ugail

2. % g

3. % e

4. % rfY

Question Number : 74 Question Id : 97675530712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following languages is mentioned in the Eighth schedule of the Indian constitution?
I. Gujarati
II. Punjabi

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 74 Question Id : 97675530712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefad 7 Q o1 & i yRd Tfay™ &) sredt argget | aftfa 82

1. TORT
1. Goralt

Options :

1. % Had I

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 75 Question Id : 97675530713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with Executive Power of the Union?
Options :

1. % 52

2.9 53

3. % 54

4, % 55

Question Number : 75 Question Id : 97675530713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT HAUT BT B AT w6 9 B BT D] Afad ° Jafd 82
Options :

1. % 52



2.9 53
3. % 54
4. % 55

Question Number : 76 Question Id : 97675530714 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Through which constitutional amendment voting age was reduced from 21 to 18 in the Indian constitution?

Options :

1. ¥ Sixty first

2. # Forty fourth
3. % Forty second

4. ¥ Twenty seventh

Question Number : 76 Question Id : 97675530714 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

fora aenfe T=Med & gRT HRAIT Tfaem H die 33 B 3G 21 | ¥eTdhr 18 B af T3 2

Options :

1. ¢ gI3dl
2. % Jardiigai
3. % gOerdi
4. % ggqal

Question Number : 77 Question Id : 97675530715 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article 80 of the Indian constitution deals with
Options :

1. % Constitution of Parliament

2. % Readjustment after each census

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



3. % Composition of the council of states

4. ¥ Composition of the house of the people

Question Number : 77 Question Id : 97675530715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA BT =g 80 EREIREE]
Options :

1. % §4C DI TToA

2. % YA SFRTUMT b YT G FHRASH

3. ¢ Y GHT BT T

4. % Qb T DI LT

Question Number : 78 Question Id : 97675530716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following team was one of the semi-finalists in 2019 FIFA Women’s World Cup?
Options :

1. ¥ United States of America

2. # Norway

3. # Japan

4. % France

Question Number : 78 Question Id : 97675530716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 W] Afgd 3y &u A FRufaa & @ o9 @ 9 te IiiwRfere A

Options :

1. ¢ o Iy AR
2. % Hid

3. % MU=



4, % BiIg

Question Number : 79 Question Id : 97675530717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of sports tournament — sport is correct?
I. Thomas Cup — Badminton
II. Ryder Cup — Football

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 79 Question Id : 97675530717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe I - e o1 e H & i 91 i Tg1 82

I. uﬁﬂm—é@iﬁr—gﬂ
1. 38T HY — Hedid
Options :

1. ¥ Hadl

2. % Had Il

3. % [ UGl

4. % qIEIIATSIII

Question Number : 80 Question Id : 97675530718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding cricket tournaments in India is correct?
I. Final match of Duleep Trophy was a 4 day match.
II. The Irani cup in 2019 — 20 has been won by Rest of India.

Options :



1. * Only I

2. % Only II

3. %* BothIandII
4. ¥ Neither I nor II

Question Number : 80 Question Id : 97675530718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR | frdbe grtte & e & Fufafea & 9 w19 a1 sy gl 32
1. TS SIP! &T HIe-d Hd 4 feawda f o7l

I1. 2019 — 20 H S ST VY YR §RT ST T 2|

Options :

1. % dhad |

2. % Had Il

3. % [ QU Gl

4.« ATBIIATBII

Arithmetic Abilityl

Group Number : 5

Group Id : 976755906
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl



Section Id : 9767551336

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551559
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675530719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

82100+ 440+ =
What is the value of ?
Options :
1. * 906.03
2. % 960.03
3. % 960.09
4. % 960.9

Question Number : 81 Question Id : 97675530719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8100+ 4 -k.m_%,f_;ef_g

i ST HHE FT8?
Options :
1. % 906.03

2. ¥ 960.03



3. * 960.09
4. * 960.9

Question Number : 82 Question Id : 97675530720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the smallest?
Options :

RV
. & WJ{E—’V'E
3. ¢ V13 -1
4. % V13

Question Number : 82 Question Id : 97675530720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 oF 9 9ad Biel 82

Options :
R



NTEE

4, %

Question Number : 83 Question Id : 97675530721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

L V19 -7 > 13 -1,

II. The greatest among {(E,\JE and -{E is -{E :
Options :

1. % Only I

2. % Only II

3. % BothIand I

4. ¥ Neither I nor II

Question Number : 83 Question Id : 97675530721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad 7 9 oF I/ o= I8 8782

. Jio-i7>V13-41
1. 2,73 aur 35 & @ gag g=r 5 2

Options :

1. % Had 1
2. % Had Il
3. % [ UGl
4. TRIIATR I



Question Number : 84 Question Id : 97675530722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I If 3/0.04 X 0.16 x x = ,f0.0064 x 0.16 x y , then the
value of x/yis 6 x 1072

II. If 0.32 x 1007 = 32, then the value of pis 1.

Options :

1. % Only I

2. Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 84 Question Id : 97675530722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ Y9 I8t 8/8?

. IR 0.04x0.16xx =,f0.0064x0.16xy &, ar
xly @l AT 6 x 102 2|

I, I 0.32x 100r=32 &, Y p & AT 1

Options :

1. % Bad I
2. ¢ Had I
3, % [qUTII gl



4. % ATEIIATSII

Question Number : 85 Question Id : 97675530723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If KP =289 (P > 1), then what is the value of (K + 2)P?
Options :

1. ¥ 361

2. %19

3. % 17

4. % 441

Question Number : 85 Question Id : 97675530723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e KP =289 (P> 1) ®, Al (K + 2)P ST HH FT7?
Options :

1. ¥ 361

2. %19

3. % 17

4. % 441

Question Number : 86 Question Id : 97675530724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of marked price and selling price is 8 : 7, then what is the discount percentage?
Options :

1. % 14.28 percent

2. % 16.66 percent

3. ¥ 12.5 percent

4. % 8.33 percent



Question Number : 86 Question Id : 97675530724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3iferd Heg qUT fasha Yo &1 U 8 : 78, ) B¢ Ufa=Id a1 82
Options :

1. % 14.28 Ufa=rd

2. % 16.66 U=

3. ¢ 12.5 gfa=id

4. % 833 Ufa=rd

Question Number : 87 Question Id : 97675530725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 16 numbers is 32. If the average of last 6 numbers is 23, then what is the average of the remaining numbers?
Options :

1.¥ 374

2. % 384

3.% 424

4. % 354

Question Number : 87 Question Id : 97675530725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16 T3 T 31T 32 51 TG i 6 TSNS BT 3fd 23 7, Tl AW TATSHT BT ST HM 52
Options :

1.¥ 374

2. % 384

3.% 424

4. % 354



Question Number : 88 Question Id : 97675530726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A single discount of 30 percent is given on Rs. 1500. If two successive discounts of 25 percent and 10 percent are given, then what is the
difference between both the selling prices?

Options :

1. # Rs. 0

2. % Rs. 37.5
3. ¥ Rs. 30
4. % Rs.42.5

Question Number : 88 Question Id : 97675530726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ésoomwsomﬁmﬁwa"raﬁ%l e 25 UIARTT TUT 10 YII=Id 1 &l hiHDb T &I ST, ol G fdehd Yol & He T 3R
9

Options :

1. % 030

2. ¢ 375500
3. % 3030
4. % 425307

Question Number : 89 Question Id : 97675530727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi wrote first 15 natural numbers on the board. Manish erased one of the number. If the average of the remaining 14 numbers become 8, then
which number was erased by the Manish?

Options :
1. %10
2. % 12
3.% 7
4. ¥ 8



Question Number : 89 Question Id : 97675530727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M 7 IS W UYH 15 Ui TSATE ferdT | TN = T e &1 e fear af [ 14 IReAmsfi &7 31¥d 8 81 ST 6, @ J-iY gRT D IH-3T
e firerg g o

Options :

1. % 10

2. % 12

3.% 7

4.8

Question Number : 90 Question Id : 97675530728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 15 percent more than B and 70 percent less than C. If value of B is Rs. 180, then what is the value of C?
Options :

1. #* Rs. 660

2. ¥ Rs. 690

3. % Rs. 680

4. % Rs. 670

Question Number : 90 Question Id : 97675530728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 15 Ufard 3ifde 8 9yt ¢ ¥ 70 Ufdd $H g1 afe B ST HM 180 TUA &, I C BT HH T 82
Options :

1. % 660 3YY

2. ¢ 690 T

3. % 680 %04

4. % 670 39Y



Question Number : 91 Question Id : 97675530729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A jouney of 96 km takes one hour less by a fast train (A) than by a slow train (B). If the average speed of B is 16 km/h less than that of A, then
the average speed (in km/h) of A is:

Options :
1. ® 64
2. ¥ 48
3. % 54
4. % 60

Question Number : 91 Question Id : 97675530729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A%t T B 7 (A), et 1S | <T@ ATl ¢ (B) B o H 96 fobt 1 gt U © B 9HT § 99 Bl 81 i B B 31 T, A B o
H 16 feider B ©, df A 3t 3 7ifa (rdiee 9 &

Options :

1. % 64

2.9 48

3. % 54

4. % 60

Question Number : 92 Question Id : 97675530730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is first increased by 20 percent. Then it is increased by 50 percent. Then it is decreased by 10 percent. If X now becomes 2916, then what was
the initial value of X?

Options :
1. % 2400
2. % 2100
3. % 1500
4.+ 1800



Question Number : 92 Question Id : 97675530730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X B Ugd 20 Ufa=rd S o g | fh I/ 50 Ufa=rd T ggrn Srar g 1 fhr 39 10 ufawd @ &H fear Srar 81 afe X 3ig 2916 B WAl @,
dl X BT RN /19 &7 U1

Options :

1. % 2400

2. % 2100

3. % 1500

4. ¢ 1800

Question Number : 93 Question Id : 97675530731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 120 litre mixture of milk and water, water is 15 percent. How much amount of water should be added to make the water 66 percent in the
new mixture?

Options :

1. # 198 litres
2. ¥ 180 litres
3. % 78 litres
4. % 54 litres

Question Number : 93 Question Id : 97675530731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G AT T b 120 THeR b T B0 T U= 15 U= ¢ | 7 FHrs/07 T O BT 66 TR S o forg Ut &1 faaet A foarT =g e
Options :

]. % 198 Tlc}

2. ¥ 180 eI}

3. % 78 @I}

4, % 547lc]



Question Number : 94 Question Id : 97675530732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2/3 of cost price of a pen is equal to 50 percent of the selling price of the pen, then what is the profit percentage?
Options :

1. # 66.66 percent

2. % 33.33 percent

3. % 25 percent

4. % 50 percent

Question Number : 94 Question Id : 97675530732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U UF & hd Yed Bl 2/3, U & faehd e & 50 U1 & SRI6R o, Al ATy Ua=id a1 82
Options :

1. % 66.66 Uf<Id

2. ¢ 33.33 gfa=rd

3. % 25 gfaerd

4. % 50 gfaerd

Question Number : 95 Question Id : 97675530733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man bought two chairs for a total of Rs. 4600. He sold one at a profit of 10 percent and other at a profit of 20 percent The selling price of both
the chairs is same. What is the cost price of chair which was sold at profit of 10 percent?

Options :

1. % Rs. 2200
2. ¥ Rs. 2400
3. ¥ Rs. 2300
4. % Rs. 2500



Question Number : 95 Question Id : 97675530733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Al 7 $d 4600 0T T G HRIAT WRIGT I T 10 TR o ATH TR TUT G-I 20 TIRIT & AH TR 99 &1 | QI il ol fashd
Ted J9ME |1 10 UfA=rd & a1y R o Tt if o1 o geu an /2
Options :

1. % 2200 %09Y
2. ¥ 2400 39T
3. % 2300 390
4. % 2500 3UY

Question Number : 96 Question Id : 97675530734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. The cost price of an article is Rs. 600 and it is sold at Rs. 660 at the profit of 10 percent.
II. The cost price of an article is Rs. 400 and it is sold at Rs. 160 at the loss of 20 percent.

Options :

1. ¥ Only I

2. % Only II

3. %* BothIand II
4. # Neither I nor II

Question Number : 96 Question Id : 97675530734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ &1 91 &Y 981 /2

. U G &1 0 Tl 600 U § 3R 34 660 ¥UT H 10 U= & A1 R 51 T & |
I1. U 9% BT T JT 400 T g 3R 3T 160 39T A 20 UfARd &1 1 R =1 TR |
Options :

1. ¥ $had |

2. % Had Il




3. % 1dUT Il
4. % qIEIIATSIII

Question Number : 97 Question Id : 97675530735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=3:2, then what is (4a + 2b) : (4a —2b)?
Options :

1. % 5:2
2.% 1:2
3. °2: 1
4. % 3:1

Question Number : 97 Question Id : 97675530735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a:b=3:28, dl (4a+2b): (4a—2b) FTE?
Options :

1. % 5:2
2.%1:2
3. 9°2: 1
4. % 3:1

Question Number : 98 Question Id : 97675530736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If three numbers are in the ratio of 3 : 5 : 6 and the sum of their squares is 630, then what is the difference between the largest and the smallest
number?

Options :
1. % 15
2.¥9
3.% 6



4. %3

Question Number : 98 Question Id : 97675530736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g B 3 2 5 : 6 P SUTT T § TUT 37 I BT AN 630 B, Al TG TS| AT T Ja BIcT BT & A BT SR F1 57
Options :

1. % 15

2.¥9

3.% 6

4, % 3

Question Number : 99 Question Id : 97675530737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three boxes of capacity 52 kg, 78 kg and 208 kg are completely filled with three varieties of wheat A1, B1 and C1 respectively. All the three
boxes were emptied and the three types of wheat were thoroughly mixed and the mixture was put back in the boxes. How many kg of type Al
wheat would be there in the third box?

Options :

1. ¥ 32 kg
2. % 16 kg
3. % 44 kg
4. % 24 kg

Question Number : 99 Question Id : 97675530737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot F&eel fOrTep1 &fwa 52 b1, 78 fob. 3T, T 208 b 1. B, 1 i1 ORE 1 71 AT Al, B1 TYTC1 H RIRTTATE | 141 [Sod @redt R
f3T ITd € 71 I TR & TIg &1 3w J Fam & a1e, yor & iR O fiF1 1Saat & oR1 o 8 | e e o A1 areft 715 &1 3 1 g2

Options :
1.« 32 B
2. % 16T



3. % 44 fH T
4. % 24fp T

Question Number : 100 Question Id : 97675530738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. A sum of Rs. 43400 is divided among P and Q in the ratio of 5 : 9 respectively. Share of P is Rs. 15500.
II. Ratio of A and B is (1/3) : (1/4). If A is 144, then the value of B is 192.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 100 Question Id : 97675530738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # 3 19 91 Sy T8l 82 _

I. 43400 ¥UY &1 U AR DI P AYTQ &F &1 5 : 9 & U W SIeT AT & | P T 3R 15500 U & |
II. A 4T B 1 UM (1/3) : (1/4) 81 (G A 144 § AT B HTHAM 192 B

Options :

1. ¥ Hadl
2. % Had Il
3. % [qUT el
4. % FrAIATA

Arithmetic Ability2

Group Number : 6
Group Id : 976755907

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability2

Section Id : 9767551337
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551560
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675530739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money is borrowed by a person at the annual rate of 5 percent on simple interest for 8 years. If he has to pay Rs. 200 as interest
after 8 years, then what is the total amount he has to pay?

Options :

1. * Rs. 500
2. % Rs. 700
3. #* Rs. 800
4. % Rs. 1000

Question Number : 101 Question Id : 97675530739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fad gRT 8 T P foIT WU U WR 5 Ui & a1ffer o= T Tep fAfdd I IR ot 7t 3 afe 3/ 8 98 & &1¢ oI & =4 H 200
YA gPM ©, a1 IY P fhan AR gt 82

Options :

1. % 500 39Y
2. ¥ 700 30
3. % 800 ¥UY
4. % 1000 9T

Question Number : 102 Question Id : 97675530740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. If sum of money becomes twice of itself on simple interest at the rate of 5 percent per annum, then in same time it will become six times of
itself on the simple interest at the rate of 25 percent per annum.

I1. If a sum of money becomes four times of itself in 6 years on simple interest, then it will become seven times of itself in 12 years on simple
interest.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 102 Question Id : 97675530740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed & ¥ D 91 HY- I8 52

1. IS T IR WYROT AT W 5 Fa=rd Uit a¥ 1 &X & W9 Bt QA1 1 A 8, df T8 FHH JHT H AR 1S IR 25 U= ufd a8 oI
R Y WY B B A1 81 S|

11. A T T YR ST TR 6 I8 H W98 B IR AT 81 Sl &, I T8 YR STl TR 12 I H W98 &1 9rd T g1 S|

Options :

1. % Bad |




2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 103 Question Id : 97675530741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between simple interest and compound interest (compounding annually) received on Rs. 10000 for 3 years at the annual
rate of 8 percent?

Options :

1. # Rs. 182.22
2. % Rs. 197.12
3. % Rs. 175.22
4, % Rs. 192.12

Question Number : 103 Question Id : 97675530741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 9T TR 8 UfIId Ht ATP ax J 3 T o forT Ui o 71U R UT &1t 3iR Ihgfg SaTS (ATes Garor UR) & Hed ol ek ]2
Options :

1. % 182.22 %00

2.4 197.12 300

3. % 17522900

4. % 19212390

Question Number : 104 Question Id : 97675530742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train of length 500 metre is moving at a speed of 20 metre/second. In how much time will the train cross a platform of length 600 metre?
Options :

1. ¥ 55 seconds

2. % 30 seconds



3. % 40 seconds
4, % 45 seconds

Question Number : 104 Question Id : 97675530742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td 500 Hiex T YS! 20 Hie/AHUS ot Tfd T T X1 8 1 Th 600 Hier A WehH B YS! fha- 99g § IR &R ATt
Options :

1. ¥ 55 4DHUS

2. % 30 YDHUS

3. % 40 YhUg

4. % 45 DU

Question Number : 105 Question Id : 97675530743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At usual speed, Rahul takes 1 hour to reach his school. If Rahul is moving at the (4/5) of his usual speed, then what will be time taken by him to
reach the school?

Options :

1. # 90 minutes
2. ¥ 75 minutes
3. % 120 minutes

4. % 48 minutes

Question Number : 105 Question Id : 97675530743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wnﬁwwﬁ&mﬁwqﬁaﬁﬁ | §CT AT ¢ | IS Iga SO T & (4/5) W Tl 8, Al I 30 ITHd Uga- H T 90
?

Options :

1. % 90 fi e
2. 75 e



3. % 120 foCe
4. % 48 fie

Question Number : 106 Question Id : 97675530744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Speed of a boat in still water is 8 km/hr and the speed of stream is 3 km/hr. The boat can cover 40 km upstream and 88 km downstream in 14
hours.

II. A man covers 3 equal distances with speed of 6 km/hr, 12 km/hr and 15 km/hr. His average speed is 90/7 km/hr.

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 106 Question Id : 97675530744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead o @ ®F W1 HYF 981 72

%@Rwﬁ%mﬁnﬁsﬁrﬁ.m%amwﬁvﬁsﬁirﬁ./sia%|WW$W4O%IRH%HW$&W88%@IW 14de
SRR |

1. U fad 3 THM gRaT 6 fob 1/, 12 fo wh der aut 15 fo. /et &t nfaal O aa &1 81 S9! $igd i 90/7 {6 1 /der g |

Options :

1. % Had I

2. % Had Il

3. % [ UGl

4. FBIIATE I

Question Number : 107 Question Id : 97675530745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



10 women can cut 30 trees in 4 hours. If 4 women leave, then how many trees will be cut in 8 hours?
Options :

1. ¥ 36

2. % 18

3.% 22

4. % 25

Question Number : 107 Question Id : 97675530745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 ARRATY 4 °¢ T 30 g&f PTc el & | ARG 4 AR =it STl &, aF 8 T H fpa- gef w1e Smar
Options :

1. ¥ 36

2. % 18

3. % 22

4. % 25

Question Number : 108 Question Id : 97675530746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q working together can complete a work in 15 days. Q alone can complete the same work in 45days. In how many days P alone can
complete half of the same work?

Options :
441 days
2
| %
221 days
2

2.¥



1
11— davs
1 Y
331(1515
3 Y

Question Number : 108 Question Id : 97675530746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P 3R Q 1Y TR Ueh H1d ! 15 ol H QI HR Thd 81 Q bt ST B Bl 45 &1 H T HR ThdT g | P bl G B &b 318 Bl
foram faf § 1 R W 82

Options :

44%1?\?




Question Number : 109 Question Id : 97675530747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A alone can do a work in 30 days. B alone can do the same work in 25 days. Time taken by A and B together to do the same work is same as the
time taken by C alone to do the same work. A, B and C together will do the same work in how many days?

Options :

2
5— davs
11 >

Question Number : 109 Question Id : 97675530747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 35 Th B &1 30 el H PR gpar g1 B bl I BRI bl 25 fai H R a1 g1 A IUT B gRT fHaex ST &1 &l o H forar ma
THY C gRT 3{Pba 341 BRI bl B A ol T8 70 & I g1 A, B IUT C et I3 ord ot fordm feai 7 a3

Options :




11
1. =
e
11
2. %
6 fet
5=
. 11

Question Number : 110 Question Id : 97675530748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First pipe alone can fill a tank in 24 minutes and second pipe alone can fill the same tank in 18 minutes. A third pipe alone can emply the
completely filled same tank in 9 minutes. In the beginning, the first two pipes are opened for 8§ minutes. The first two pipes are closed and the
third pipe is opened. In how much time the tank will be emptied?

Options :

1. # 8 minutes
2. ¥ 7 minutes
3. % 6 minutes

4. * 9 minutes

Question Number : 110 Question Id : 97675530748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ugdl UIgY 3l Uh ¢ Dl 24 T T WR Aehdll § 3R GIRT UIRY 3fabel 3T b DI 18 e T 4R Thdl 3| U I¥RT UIRY 3l G¥I o8
T YR GU ST < DI 9 e T TMell H= Iovdl 5 | ST H, U &1 U1sy Bl 8 fiie & forg Wi S ¢ 1 gl &1 Ursy o ax fed SId &
YT T Urey ot e e S § | <o foran o | e g1 Siee

Options :

1. % gfiFe
2. ¢ 71T
3. % 6 fiFe
4. % 9ffe

Question Number : 111 Question Id : 97675530749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of the cylinder is decreased by 20 percent, then by how much percent the height must be increased, so that the volume of the
cylinder remains same?

Options :

1. # 48.75 percent
2. ® 42.50 percent
3. % 56.25 percent
4. ¥ 64.75 percent

Question Number : 111 Question Id : 97675530749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe S o1 Fea 7 20 Tia=id &1 B &1 ot §, 6 SUd! SHaTs H fha- Ufawd & gfg Bt A1fe T difds 9a &1 SMa- JHH 32
Options :

1. % 48.75 Ufa=rd

2. % 42,50 Ufa=rd

3. ¥ 56.25 Ufa=rd

4. % 64.75 Yfa=rd

Question Number : 112 Question Id : 97675530750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The length and breadth of a solid cuboid are 40 cm and 30 cm respectively. The length of the side of three similar solid cubes is 45 cm. If all the
three cubes and the cuboid are melted to form a sphere of radius 42 cm, then what is the height (approximate) of the cuboid?

Options :

1. # 24.80 cm
2. % 35.60 cm
3. % 40.50 cm
4.9 30.90 cm

Question Number : 112 Question Id : 97675530750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh 31 UTH 1 iaTg U1 ISTS AT 40 F.H1. TUT30 Y1, 81 1 THIT S U1 T Yol 1 oialTs 45 9.1, 81 afe w4t o= ui o
ATH &) FUaares 42 T4, B0 a1el U Mar S50 1 8, a) I9TH B SalTs (AFTHT) 31 82

Options :

1. % 24.80 T4,
2. % 35.60 .4,
3. % 40.50 9.1,
4. 30.90 T4,

Question Number : 113 Question Id : 97675530751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of regular hexagon is 150V3 cm?. Perimeter of hexagon is equal to the perimeter of a rectangle.

If length the rectangle is 6 cm more than the breadth of the rectangle. then what will be the area of rectangle?
Options :

1. % 198 cm?

2. % 256 cm?

3. ¢ 216 cm?

4. % 218 cm?



Question Number : 113 Question Id : 97675530751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HH SSHIUT & &SIFd 1503 T2 gIveHor &1 oA 3T & 9RET F e g
IfE AT Hr TFaE. 3T Fr =5 T 6 TA. 30 S HOT FT STh AT g

Options :

1. % 198 9.2
2. % 256 4.2
3. ¥ 2169112
4. % 2139112

Question Number : 114 Question Id : 97675530752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Radius of a semicircle is 28 cm. Circumference of semicircle is equal to the perimeter of a square. Difference between the area of square and

semicircle is 84 cm?.

II. If length, breadth and height of a cuboid are 20 cm, 16 cm and 10 cm, then total surface area will be 1480 cm?.
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. ¥ Neither I nor II

Question Number : 114 Question Id : 97675530752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ ®F 91 &Y= 981 /2

1. U 3¢ &1 Broar 28 A, g1 Srefga &1 uRf U ol o URHTT & SRI6R g | aFf auT gd & &b & s & SfaR 84 4. 2 5
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Options :

1. % FHadl
2. % Had Il
3. % [ UGl
4. TRIIATRII

Question Number : 115 Question Id : 97675530753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the quantity of rainfall in 6 states of a country. Quantity of rainfall is shown as a percentage of total quantity of
rainfall in these 6 states.

S1
3%

36
23%

If total quantity of rainfall in these 6 states is 1440, then what is the quantity of rainfall in S3?
Options :

1. % 316.8

2.9 331.2

3. % 403.2

4, % 216.8



Question Number : 115 Question Id : 97675530753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬂ%?wm‘aﬁw%&r%mﬁﬁaﬁﬁmaﬁmﬁ%a&fﬁwﬁsmwﬁﬁa&fﬁgmwéwﬁma%wﬁmﬁ
TR

S51
3%
56
23%

& 39 6 o0 H N1 B Hol HEAT 1440 §, < S3 T af &1 A1 -1 82
Options :
1. % 316.8
2.¥ 3312
3. % 4032
4.%216.8

Question Number : 116 Question Id : 97675530754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of girls studying in 6 schools of a state. Number of girls are shows as a percentage of total number
of girls studying in these 6 schools.



Total number of girls studying in K and J are what percentage of number of girls studying in A?
Options :

1. # 315 percent

2. % 335 percent

3. % 325 percent

4. % 340 percent

Question Number : 116 Question Id : 97675530754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= e mar Ui Are U I & 6 o dl § UG I8! Ab sl o1 G- b SRl 8 | Tl bl TR B 39 6 Wl § Ug el dsiedl bt
H WS & YfaRd & &0 H SR T g
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Options :

1. % 315 gfaerd

2. % 335 UfaRrd

3. ¢ 325 UfaRid

4. % 340 gfa=rd

Question Number : 117 Question Id : 97675530755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by Ramesh on 8 different articles. Amount spent on among them article is shown as a
percentage of total amount spent on these 8 articles. Total amount spent on these 8 articles by Ramesh is 86000.



Which of the following statement is/are correct?

I. Amount spent on B is 9460 more than the amount spent on H.

II. Difference between the central angles formed by B and A is 61.2 degrees.

I11. Difference between the total amount spent on F and E together and the total amount spent on A and G together is 19880.

Options :

1. * Both I and III
2. % Only II

3. # Only 1II

4. ¥ BothIand II

Question Number : 117 Question Id : 97675530755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feam mar org ard aw g1 8 fafte axgeft R Wd &t i IR 1 gxiidr 8 1 3 ¥ fhelt o U g R W ! i IR Y 3 8 gt
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[11. F TUT E R e T &t T $ad R 94T A TUT G R {Hares T &1 T $d A & 787 3R 19880 ]
Options :

1. % 137 11 gl

2. % HAdII

3. % Had Il

4.+ 19T 11 S

Question Number : 118 Question Id : 97675530756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of fans sold by three shops in five consecutive days.



Shops
2y ] K L
D1 86 92 108
D2 48 116 32
D3 94 108 32
D4 54 36 92
D3 48 34 1.2

R — Diftference between the fans by K and J in the given days.
M — Total number of fans sold by these shops on D1, D3 and D4.
R is what percentage of M?

Options :

1. % 14.10 percent
2. % 13.56 percent
3. % 14.98 percent
4. % 12.36 percent

Question Number : 118 Question Id : 97675530756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & T it Uie SHNTG o § A9 gl gRT S 1T UG &) IRe Y auidl |



feet

J K L
D1 36 92 108
D2 48 116 32
D3 94 108 82
D4 54 36 92
D5 48 34 112

R - @ TU f&A1 & K U7 J §RT o T4 UG} 1 ¥ReT o Hed 3|
K — 39 g gRI D1, D3 AU D4 H & T Gl Dt Sl F&AT|

R, M T e ufamrd g2

Options :

1. ¥ 14.10 Ufa=rd
2. % 13.56 Ufa=rd
3. % 14.98 gfa=rd
4. % 1236 Ufard

Question Number : 119 Question Id : 97675530757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph given below shows the number of persons living in 6 different flats.
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Number of persons living in F5 are what percentage more than the number of persons living in F3?
Options :

1. ¥ 37.5 percent

2. % 50 percent

3. ¥ 60 percent

4. ® 16.66 percent

Question Number : 119 Question Id : 97675530757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= feam o an o 6 faftret vl & T v cafaadl o) Sem & g g |
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Options :

1. % 375 gfa=rd

2. % 50 gfa=rd

3. ¢ 60 Ufa=rd

4. % 16.66 Ufd2rd

Question Number : 120 Question Id : 97675530758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph given below shows the selling price and cost price of 6 different articles. Profit = Selling price — Cost price, Profit percentage =
[(Profit/Cost price) x 100]



) sel!ing -4 Cost
price Price

o

=

=
J

500
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= o

= =
1 1

Which of the following statement is/are correct?
I. Profit percentage on article R is —80 percent
I1. Total profit percentage on article P, T and Q 1s —13.33 percent

Options :

1. % Only I

2. % Only II

3. # Both I and II
4. ¥ Neither I nor II

Question Number : 120 Question Id : 97675530758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had I
3. % [ UGl
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Question Number : 121 Question Id : 97675530759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Bread and (1)/milk are my (2)/ favourite breakfast snack (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 121 Question Id : 97675530759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).



Bread and (1)/milk are my (2)/ favourite breakfast snack (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 122 Question Id : 97675530760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The sooner you send the (1)/files, easier it will (2)/for me to process the report (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 122 Question Id : 97675530760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The sooner you send the (1)/files, easier it will (2)/for me to process the report (3)/.No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 123 Question Id : 97675530761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You should understand that (1)/its not that easy to make (2)/adjustments in a schedule (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 97675530761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You should understand that (1)/its not that easy to make (2)/adjustments in a schedule (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 124 Question Id : 97675530762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Some airlines allow passengers to (1)/upgrade at the spot with a swipe (2)/of a credit card once onboard (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 124 Question Id : 97675530762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Some airlines allow passengers to (1)/upgrade at the spot with a swipe (2)/of a credit card once onboard (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 97675530763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Red pigments are (1)/ not commonly founded (2)/in living organisms (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 97675530763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Red pigments are (1)/ not commonly founded (2)/in living organisms (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 126 Question Id : 97675530764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
His mother (passed at) after a long illness.

Options :

1. ¥ passed away
2. ® passed on
3. % passin

4. ¥ No improvement

Question Number : 126 Question Id : 97675530764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
His mother (passed at) after a long illness.

Options :

1. ¥ passed away
2. ® passed on
3. % passin

4. ¥ No improvement

Question Number : 127 Question Id : 97675530765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The victim (had not undergone) any recent dental surgery.

Options :

1. ¥ was not underwent
2. # not has undergone

3. # have not undergone

4. ¥ No improvement

Question Number : 127 Question Id : 97675530765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The victim (had not undergone) any recent dental surgery.

Options :

1. % was not underwent
2. # not has undergone

3. % have not undergone

4. ¥ No improvement

Question Number : 128 Question Id : 97675530766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The woman (who will cross) this line first will win the prize.

Options :

1. ¥ who crosses

2. % which will cross
3. % who would cross

4. ¥ No improvement

Question Number : 128 Question Id : 97675530766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The woman (who will cross) this line first will win the prize.

Options :

1. ¥ who crosses

2. % which will cross
3. % who would cross

4. ¥ No improvement

Question Number : 129 Question Id : 97675530767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I (have written) three short stories since breakfast.

Options :

1. # have been write

2. % am writing

3. % would have written

4. ¥ No improvement

Question Number : 129 Question Id : 97675530767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I (have written) three short stories since breakfast.

Options :

1. # have been write

2. % am writing

3. % would have written

4. ¥ No improvement

Question Number : 130 Question Id : 97675530768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The doctor (would have left) the clinic by the time I reach there.

Options :

1. # should leave
2. ¥ will have left
3. # will leave

4. % No improvement



Question Number : 130 Question Id : 97675530768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
The doctor (would have left) the clinic by the time I reach there.

Options :

1. % should leave
2. ¥ will have left
3. # will leave

4. ¥ No improvement

Question Number : 131 Question Id : 97675530769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
All aeroplanes operate an envelope of stability.

Options :
1. # to
2.9 in
3. % of
4. % off

Question Number : 131 Question Id : 97675530769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
All aeroplanes operate an envelope of stability.

Options :
1. # to
2.9 in
3. % of
4. % off



Question Number : 132 Question Id : 97675530770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The IT project has to be submitted tomorrow evening.

Options :
1. ¥ by

2. * unless
3. % on

4. *= with

Question Number : 132 Question Id : 97675530770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The IT project has to be submitted tomorrow evening.

Options :
1. ¥ by

2. % unless
3. % on

4. *= with

Question Number : 133 Question Id : 97675530771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
This compound can be used in a range of applications.

Options :
1. * widen
2. ¥ wide
3. % wider

4. * widely



Question Number : 133 Question Id : 97675530771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
This compound can be used in a range of applications.

Options :

1. # widen
2. ¥ wide
3. % wider

4. % widely

Question Number : 134 Question Id : 97675530772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Which source you have for this file?

Options :

1. # process

2. ¥ considered
3. % halted

4. % surrendered

Question Number : 134 Question Id : 97675530772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Which source you have for this file?

Options :

1. # process

2. ¥ considered
3. % halted

4. % surrendered



Question Number : 135 Question Id : 97675530773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
You need to why you cannot attend the meeting.

Options :

1. ¥ explain
2. * associate
3. * violate

4. = exempt

Question Number : 135 Question Id : 97675530773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
You need to why you cannot attend the meeting.

Options :

1. ¥ explain
2. * associate
3. * violate

4. = exempt

Question Number : 136 Question Id : 97675530774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Blood donation refers

P. to people so it helps

Q. people donate their blood

R. them with their health problems

S. to a practice where

Options :



1. ¥ SQPR
2. % QSRP
3. % RSQP
4. % PSQR

Question Number : 136 Question Id : 97675530774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Blood donation refers

P. to people so it helps

Q. people donate their blood

R. them with their health problems

S. to a practice where

Options :

1. ¥ SQPR
2. % QSRP
3. ¥ RSQP
4. % PSQR

Question Number : 137 Question Id : 97675530775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Financial literacy can

P. enable an individual to build

Q. distinguish what he buys, what

R. up a budgetary guide, to

S. he spends, and what he owes

Options :

1. % PSQR
2. % QPSR
3. ¥ PRQS
4. % SRQP



Question Number : 137 Question Id : 97675530775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Financial literacy can

P. enable an individual to build

Q. distinguish what he buys, what

R. up a budgetary guide, to

S. he spends, and what he owes

Options :

1. * PSQR
2. % QPSR
3. ¥ PRQS
4. % SRQP

Question Number : 138 Question Id : 97675530776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Insulin is one

P. of the most essential

Q. helps in the smooth

R. functioning of our body

S. fluids of our body that

Options :

1. # QRSP
2. % SQPR
3. # RSQP
4. ¥ PSQR

Question Number : 138 Question Id : 97675530776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.
Insulin is one

P. of the most essential

Q. helps in the smooth

R. functioning of our body

S. fluids of our body that

Options :

1. # QRSP
2. % SQPR
3. ¥ RSQP
4. ¥ PSQR

Question Number : 139 Question Id : 97675530777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Black nationalism was a political and social movement prominent in the 1960s and early *70s in the United States.

Q. It sought to acquire economic power and to infuse among blacks a sense of community.

R. Many adherents assumed the eventual creation of a separate black nation by African Americans.

S. The movement, which can be traced back to Marcus Garvey’s Universal Negro Improvement Association of the 1920s.
Options :

1. ¥ PSQR

2. % QPSR

3. ¥ RQSP

4. % SRQP

Question Number : 139 Question Id : 97675530777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Black nationalism was a political and social movement prominent in the 1960s and early ’70s in the United States.

Q. It sought to acquire economic power and to infuse among blacks a sense of community.



R. Many adherents assumed the eventual creation of a separate black nation by African Americans.
S. The movement, which can be traced back to Marcus Garvey’s Universal Negro Improvement Association of the 1920s.

Options :

1. ¥ PSQR
2. % QPSR
3. ¥ RQSP
4. ¥ SRQP

Question Number : 140 Question Id : 97675530778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Spendthrift

Options :

1. # Cautious
2. % Prodigal
3. % Cluster

4. % Preen

Question Number : 140 Question Id : 97675530778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Spendthrift

Options :

1. # Cautious
2. % Prodigal
3. % Cluster

4. % Preen

General English2
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Question Number : 141 Question Id : 97675530779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Spontaneous

Options :
1. % Artful
2. * Crafty

3. ¥ Extempore



4. % Disastrous

Question Number : 141 Question Id : 97675530779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Spontaneous

Options :

1. # Artful

2. # Crafty

3. ¥ Extempore

4. % Disastrous

Question Number : 142 Question Id : 97675530780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Haste

Options :

1. # Deny

2. # Destroy
3. * Demand
4. ¥ Delay

Question Number : 142 Question Id : 97675530780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Haste

Options :
1. # Deny
2. # Destroy
3. # Demand



4. ¥ Delay

Question Number : 143 Question Id : 97675530781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Haughty

Options :

1. ¥ Modest
2. % Master
3. # Coerce

4, % Clamour

Question Number : 143 Question Id : 97675530781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Haughty

Options :

1. ¥ Modest
2. % Master
3. # Coerce

4, % Clamour

Question Number : 144 Question Id : 97675530782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Nefarious

2. # Neffarious

3. % Nefarrious



4. % Neffariuos

Question Number : 144 Question Id : 97675530782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Nefarious

2. # Neffarious

3. % Nefarrious

4. # Neffariuos

Question Number : 145 Question Id : 97675530783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Assparagus

2. ®% Aspparagus

3. % Asparagus

4. ¥ Asspargus

Question Number : 145 Question Id : 97675530783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Assparagus

2. % Aspparagus

3. ¥ Asparagus

4. % Asspargus



Question Number : 146 Question Id : 97675530784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Precarioussly

2. # Preccariously

3. % Precarioussli

4. ¥ Precariously

Question Number : 146 Question Id : 97675530784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Precarioussly

2. # Preccariously

3. % Precarioussli

4. ¥ Precariously

Question Number : 147 Question Id : 97675530785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Pamphlet

2. % Pamflet

3. % Pampphlet

4. ¥ Pammphlet

Question Number : 147 Question Id : 97675530785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Pamphlet

2. % Pamflet

3. ¥ Pampphlet

4. % Pammphlet

Question Number : 148 Question Id : 97675530786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Next to nothing

Options :

1. # Without response
2. % Hardly anything
3. % To fabricate

4. % To rebuff without consideration

Question Number : 148 Question Id : 97675530786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Next to nothing

Options :

1. # Without response
2. % Hardly anything
3. % To fabricate

4. % To rebuff without consideration

Question Number : 149 Question Id : 97675530787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
On aroll

Options :

1. ¥ Running fast

2. # To meet a tragedy

3. % In the midst of successes

4. % To have trust in someone

Question Number : 149 Question Id : 97675530787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
On aroll

Options :

1. ¥ Running fast

2. ®# To meet a tragedy

3. % In the midst of successes

4. % To have trust in someone

Question Number : 150 Question Id : 97675530788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To cry wolf

Options :

1. # To have no consequence
2. % To highlight

3. % To give a false alarm

4. % To downgrade PATHY

Question Number : 150 Question Id : 97675530788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To cry wolf

Options :

1. ® To have no consequence
2. % To highlight

3. % To give a false alarm

4. # To downgrade PATHY

Question Number : 151 Question Id : 97675530789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To end in smoke

Options :

1. # To gain significance
2. % To admire oneself
3. % To reach goal

4. ¥ To come to nothing

Question Number : 151 Question Id : 97675530789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To end in smoke

Options :

1. # To gain significance
2. % To admire oneself
3. % To reach goal

4. ¥ To come to nothing

Question Number : 152 Question Id : 97675530790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who helps others

Options :

1. ¥ Samaritan
2. % Hypocrite
3. # Linguist

4. % Trainee

Question Number : 152 Question Id : 97675530790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who helps others

Options :

1. ¥ Samaritan
2. % Hypocrite
3. # Linguist

4. % Trainee

Question Number : 153 Question Id : 97675530791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
An assembly of listeners

Options :

1. # Crowd
2. ¥ Audience
3. % Public

4. % Atheist



Question Number : 153 Question Id : 97675530791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
An assembly of listeners

Options :

1. % Crowd
2. ¥ Audience
3. % Public

4. % Atheist

Question Number : 154 Question Id : 97675530792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who goes on a journey to a holy place

Options :

1. % Tourist
2. # Follower
3. # Deity

4. ¥ Pilgrim

Question Number : 154 Question Id : 97675530792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who goes on a journey to a holy place

Options :

1. % Tourist
2. ® Follower
3. # Deity

4. ¥ Pilgrim



Question Number : 155 Question Id : 97675530793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Which cannot be erased

Options :

1. ¥ Indelible

2. * Misanthropist
3. #* Edible

4. * Illegible

Question Number : 155 Question Id : 97675530793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Which cannot be erased

Options :
1. ¥ Indelible
2. * Misanthropist

3. * Edible

4. * Illegible

Sub-Section Number : 2
Sub-Section Id : 9767551563
Question Shuffling Allowed : Yes

Question Id : 97675530794 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The 21st-century world transforms into a universe of rivalries. Every nation needs to be superior to the other and every nation is contending with
the other to demonstrate to be superior to the next. In this procedure, all are overlooking nature. As a result of setting nature aside during the time
spent advancing, issues like an unnatural weather change have been omitted as a danger.

Basically an unnatural weather change is the procedure of proceeding with increment of the temperature of the world's surface. Nature has given
a great deal of endowments to us yet the age is so unforgiving on them that they begin to utilize nature for their own advantages which drives it to



the way of pulverization. Elements like deforestation, ozone harming substances, consumption of the ozone layer are assuming a functioning job
in a worldwide temperature alteration. As we realize that the ozone layer shields the earth from the unsafe bright beams of the sun. In any case,
because of the consumption of the ozone layer, the UV beams come straightforwardly to the Earth and that warms the Earth as well as causing
various maladies among the individuals of the Earth. Again because of a worldwide temperature alteration distinctive abnormal conduct of nature
can be seen on this planet. These days we can see inopportune downpours, dry spells, well of lava emission and so forth in the various pieces of
the globe. An unnatural weather change likewise prompts the ice sheets to dissolve. Then again, contamination is believed to be another
significant reason for an unnatural weather change. With the improvement of science and innovation, humans are dirtying nature and that adds
fills to a dangerous atmospheric deviation.

An Earth-wide temperature boost can't be halted absolutely as some characteristic elements are likewise answerable for it. Yet, we can control it
by controlling the human-made components that cause a dangerous atmospheric deviation.

Sub questions

Question Number : 156 Question Id : 97675530795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. # How to stem global warming?

2. % Developing nations and global warming
3. % Unnatural Weather Change

4. # Developed countries and global warming

Question Number : 157 Question Id : 97675530796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what happens due to consumption of ozone layer?
Options :

1. # It has caused the ice sheets to melt rapidly.

2. # It cools the earth unnaturally.

3. % The UV beams come straightforward to the earth.

4. # The UV beams melts the core of protection.

Question Number : 158 Question Id : 97675530797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What can we control to stem atmospheric deviation?
Options :

1. ¥ We can control both human and natural components.
2. % The ozone layer can be corrected

3. # Natural components

4. ¥ Human made components

Question Number : 159 Question Id : 97675530798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ With the improvement of science and innovation, humans are preserving nature.

2. % An Earth-wide temperature boost can't be halted absolutely.

3. ® These days we can see inopportune downpours, dry spells, and so forth in the various pieces of the globe.

4. ® Bvery nation needs to be superior to the other and in this procedure all are overlooking nature.

Question Number : 160 Question Id : 97675530799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “maladies” is?
Options :

1. ® Placate

2. ¥ Ailment

3. % Panacea

4. ® Plethora

Question Id : 97675530794 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

The 21st-century world transforms into a universe of rivalries. Every nation needs to be superior to the other and every nation is contending with
the other to demonstrate to be superior to the next. In this procedure, all are overlooking nature. As a result of setting nature aside during the time



spent advancing, issues like an unnatural weather change have been omitted as a danger.

Basically an unnatural weather change is the procedure of proceeding with increment of the temperature of the world's surface. Nature has given
a great deal of endowments to us yet the age is so unforgiving on them that they begin to utilize nature for their own advantages which drives it to
the way of pulverization. Elements like deforestation, ozone harming substances, consumption of the ozone layer are assuming a functioning job
in a worldwide temperature alteration. As we realize that the ozone layer shields the earth from the unsafe bright beams of the sun. In any case,
because of the consumption of the ozone layer, the UV beams come straightforwardly to the Earth and that warms the Earth as well as causing
various maladies among the individuals of the Earth. Again because of a worldwide temperature alteration distinctive abnormal conduct of nature
can be seen on this planet. These days we can see inopportune downpours, dry spells, well of lava emission and so forth in the various pieces of
the globe. An unnatural weather change likewise prompts the ice sheets to dissolve. Then again, contamination is believed to be another
significant reason for an unnatural weather change. With the improvement of science and innovation, humans are dirtying nature and that adds
fills to a dangerous atmospheric deviation.

An Earth-wide temperature boost can't be halted absolutely as some characteristic elements are likewise answerable for it. Yet, we can control it
by controlling the human-made components that cause a dangerous atmospheric deviation.

Sub questions

Question Number : 156 Question Id : 97675530795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. ¥ How to stem global warming?

2. % Developing nations and global warming
3. ¥ Unnatural Weather Change

4. # Developed countries and global warming

Question Number : 157 Question Id : 97675530796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what happens due to consumption of ozone layer?
Options :

1. % It has caused the ice sheets to melt rapidly.

2. # Tt cools the earth unnaturally.

3. % The UV beams come straightforward to the earth.

4. #® The UV beams melts the core of protection.



Question Number : 158 Question Id : 97675530797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can we control to stem atmospheric deviation?
Options :

1. # We can control both human and natural components.
2. % The ozone layer can be corrected

3. # Natural components

4. ¥ Human made components

Question Number : 159 Question Id : 97675530798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ With the improvement of science and innovation, humans are preserving nature.

2. # An Earth-wide temperature boost can't be halted absolutely.

3. # These days we can see inopportune downpours, dry spells, and so forth in the various pieces of the globe.

4. % Every nation needs to be superior to the other and in this procedure all are overlooking nature.

Question Number : 160 Question Id : 97675530799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “maladies” is?
Options :

1. # Placate

2. ¥ Ailment

3. % Panacea

4. % Plethora
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Question Number : 161 Question Id : 97675530800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u 7T <reat 1 FfE 7 BT
ot + 331

Options :
1. = %ilé?
2. % I%\I"iEQ



3. ¢ i
4. % T

Question Number : 161 Question Id : 97675530800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u 7T wreat ot HfY 1 BT
ot + S

Options :
1. ® gy
2. % g9
3. ¢ 4
4. % 19

Question Number : 162 Question Id : 97675530801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o 91 SiTiel Juwr 8l 52
Options :

1. % SRS AR

2. * f$P BalaR

3. % gafdet

4. ¢ WG

Question Number : 162 Question Id : 97675530801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & o 1 SiTieh Juwi T8l 52
Options :

1. % SFRA B oR

2. % fSPT Bl



3. % RISt
4. ¥ IO

Question Number : 163 Question Id : 97675530802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foU U Trsg H Uy J1d B
HaRAL

Options :
l. % &
2. % ohd
3. % I
4.

Question Number : 163 Question Id : 97675530802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Tsg H U A1d HifST |
BHARA

Options :
1. % &
2. % ohd
3. %
4.

Question Number : 164 Question Id : 97675530803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U e &1 9HN faure J1d ifo|
aPd

Options :




1. ¥ G gRIPd
2. % GBI pd

3. % qd & fau od
4. % ¢gHPA

Question Number : 164 Question Id : 97675530803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Teg &1 gHN faue J1d Sifo|
<aPd

Options :

1. ¥ Cd gRIPd
2. % G DI Pd

3. % qd & fu od
4. % ¢gHPA

Question Number : 165 Question Id : 97675530804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafead & @ 1 1 Weq fad=Ie Tea a1 82
Options :

1. #® Ipd

2. % 3fqldd

3. % dleq

4. ¥ BIY

Question Number : 165 Question Id : 97675530804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed & @ o1 91 Tsg IS Weg, 61 82

Options :



1. % 5d
2. % e
3. % §IFG
4.¥ QY

Question Number : 166 Question Id : 97675530805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed o 9 o At 49, foRwo @ 78 5+t 82
Options :

1. % HgHdI

Question Number : 166 Question Id : 97675530805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofad 7 3 o1 I 13, fadivor ¥ =81 o+ 82
Options :

1. # HglAdl

2. % PR

3. % DAl

4. ¢ G

Question Number : 167 Question Id : 97675530806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9T H TETH BT UBHR J1d B |
T g B YA gl

Options :




1. % Aygaras
2. ¢ A TEY
3. % YYD

4. % O &Y

Question Number : 167 Question Id : 97675530806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 919 H TITH BT UBHR J1d i |
g G Bl TS|

Options :

1. * Fegaras
2. ¥ Y YY
3. ® JYdHdd
4. % HYH Y

Question Number : 168 Question Id : 97675530807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU ¢ 9o # fORIv0r &1 U R I1d Hifid |
%S fobard U9 W faast ust ot

Options :

1. ¢ GRS

2. % Yhddradh

3. ¥ TUIdIdd

4. * GRHATUGTES

Question Number : 168 Question Id : 97675530807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T4 91  fARIN0T &1 UHR I1d HIT|



3o fobdTd B9 IR faeast uSt ot |
Options :

1. ¢ I=HAAIH

2. % Hbhdarda®

3. % TUATISH

4. % URATUGS

Question Number : 169 Question Id : 97675530808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g ad- &1 994 Sifod |
Options :

1. % 3ffged

2.9 gl

3. % gl

4. % 3fgien

Question Number : 169 Question Id : 97675530808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & 9 g ad- &1 99+ Sifr|
Options :

1. % Jfged

2. % 3ol

3. % JgIedl

4. % 3fgiel

Question Number : 170 Question Id : 97675530809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T AW Wee I BT



B4

Options :
1. % 3IBd
2. % 3Bd
3. ¢ 3{d
4. % 3fd

Question Number : 170 Question Id : 97675530809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e J1d BT
Bd

Options :
1. # AIBd
2. % 3&Bd
3. ¢ 3d
4. % 3[d

Question Number : 171 Question Id : 97675530810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad o @ I a1 feu U wrse &1 yafard 76t 82
gt

Options :

1. ® TG

2. % i

3. ¥ I

4. % g

Question Number : 171 Question Id : 97675530810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ﬁ?@ﬁﬁﬁﬁ@@%%ﬁ@hﬁﬁﬁ%
&l

Options :

1. % TG
2. % Jeio
3. ¥ P

4. % HEE

Question Number : 172 Question Id : 97675530811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T arery # e ®IM &1 gfd BTl
3 QR =1 H YSTAR el g
Options :

1. % IRT 3R

2. ¢ IRI 3R

3. % Hardy

4. % U

Question Number : 172 Question Id : 97675530811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ areRr H et ®IM 1 gfd iferq |
N RIA_ YSEIR Bbal gl

Options :

1. % 9RI 3R
2. ¢ ARI 3R
3. % ¥ardy
4. % it g



Question Number : 173 Question Id : 97675530812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T areg ¥ Yo ®F &1 gfd S|
YD1 He-l 7+ dl PELIIR I
Options :

1. % Palu

2. % o9

3. % dlid

4. % YT

Question Number : 173 Question Id : 97675530812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T areg ¥ e ®F &1 gfd S|
IIHT e JF PEICIR R
Options :

1. % Halfy

2. % foe

3. % dife

4. YT

Question Number : 174 Question Id : 97675530813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faTu U areaiY & fore Iferd e 1 T ifoig |
S 3=t gRT 7 ST o 9o

Options :

1. ¢ S
2. % ol
3. % 3IE™




4. % gzl

Question Number : 174 Question Id : 97675530813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U graRIie & foTu IfRId e &1 T4 ST |
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Options :

1. ¥ 3=
2. % gfgun
3. % 34
4. % gfar

Question Number : 175 Question Id : 97675530814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad o @ S a1 Weg T TE! T 32
Options :

1. ¢ TD-Ch = UISI-GH

2. % TULIT0Y = GE-f= A1

3. % 816418 = eR-FeR

4. % TGI¢ = YdhR-IUR

Question Number : 175 Question Id : 97675530814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafed §  &F 91 e g e e 82
Options :

1. ¥ Th-gH = UTST-CT

2. % TULIT0Y = Y- g1y

3. % Slo-dig ==fP-FeR



4, % TSI¢ = YdhR-IUR

Question Number : 176 Question Id : 97675530815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7 gt # Rad wH @t fd i
33N UST & & i R B |
Options :

1. ¥ RYC

2. % g3

3. % et

4. % Xl

Question Number : 176 Question Id : 97675530815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou Tq are & frad =i @t gfd Fifor|
31T UST o o e SR |

Options :
1. ¥ RHC
2. % Y3
3. % it
4. % Xl

Question Number : 177 Question Id : 97675530816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B TN AN T HRb & 1Y fobam &irell g2
Options :

1. % H

2. % PO



3. ¢ g
4. % gy

Question Number : 177 Question Id : 97675530816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT TRINT GHRT 58 HRP & A1 fobam oirell 52
Options :

1. % B

2. & PIO]

3. ¢ Galyd

4. % guaH™

Question Number : 178 Question Id : 97675530817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fQ 77U ae T YdHIa o1 Ve J1d DI
e yd T H1d AUR St U1 BT YIS ¢ |
Options :

1. % g Yd

2. ¢ I Yd

3. % qufud

4. % 3quf yd

Question Number : 178 Question Id : 97675530817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1y & YddhTdl &1 Ug J1d BT
e Yd o &1 IR &1 Iuad1 B @D ¢ |

Options :
1. = gH Hd




2. 3 Yd
3. % gl g
4. % 3qul 4

Question Number : 179 Question Id : 97675530818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 Weg wilfel T 52
Options :

1. % HMER

2. ¥ RDR

3. % gl

4. % UMl

Question Number : 179 Question Id : 97675530818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & o 91 eg TifeT 52
Options :

1. % gPHaR

2. ¥ DR

3. % gl

4. % Ut

Question Number : 180 Question Id : 97675530819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # 9 &1 91 Wse §gd9- g2

Options :
1. % 3P
2. % Heiddl




3. % 3
4. U™

Question Number : 180 Question Id : 97675530819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &9 91 Wsg dgaT 82
Options :
1. % JH[DIR[
2. % Helddl
3. % fierg
4. ¢ Y
General Hindi2
Group Number : 10
Group Id : 976755911
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 9767551341
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551565
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675530820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 71T a1 &1 gt Fd BT
EIsISIEERIT

Options :

Question Number : 181 Question Id : 97675530820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 71U 919 71 Ug J1d HIfSTu|
IS o gt |

Options :

Question Number : 182 Question Id : 97675530821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau 7T 919 ) gy 19 iU
3fieh @aft off ot Tl 2

Options :

1. ¢ GYGI®H
2. % Tegrdd

3. % Jhdiie

4. % gOT qaH

Question Number : 182 Question Id : 97675530821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T g 1 gfy T BT
3fieht et oft 3 Fp il B

Options :

1. ¢ YU H
2. % gagrdsw

3. % Jhards

4. % g qOaH

Question Number : 183 Question Id : 97675530822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § § F I UUH =Y BT IS0 82
Options :

1. v

2. % dH

3. % dg

4. % 37

Question Number : 183 Question Id : 97675530822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faffad & @ ®1F 1 Tl Y BT ISTER0T 82
Options :

. ¢

2. % qH

3. % gg

4. % 39

Question Number : 184 Question Id : 97675530823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fQU 70 910 & UHR &I UgdH Difog|
IR WA gY SR Yfer 31 715 |
Options :

1. % IR

2. % foy

3. v UgE

4. % IUdI

Question Number : 184 Question Id : 97675530823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 91 & UHR P! UgdH PIoT|
IR WA gH SR gferd s 15|
Options :

1. * A

2. % fiy

3. gH

4. % 3Udi]




Question Number : 185 Question Id : 97675530824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o @ & 91 iy areg &1 a0 T8l 82
Options :

1. % Id EIaT St A U Whe e 09 ¢ fau

2. % 98 981 I8! § olal 9gd srare g

3. % T 3 3feHt I e, S sgd 9 g

4. ¥ TS dTell BTH B |

Question Number : 185 Question Id : 97675530824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & I &1 a1 iy areg &1 3eTeRu 8! 87
Options :

1. % Sd gral ot - U @l a9 09 ¢ feul

2. % T T8 <5l § ofgl 9gd eRATel &

3. % T 39 3feHt I e, S sgd asHH ¢ |

4. ¥ IS aTd] HTH B |

Question Number : 186 Question Id : 97675530825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve o, fou 0 oR fawedl & 9, 39 fadmen &1 997 & S foU U geTark & 3 &l Ia9% U I oJad HRdl ¢ |
& B Y H ORI

Options :

1. % &c & Yg | SIRT ST

2. % 3[Ad M B

3. ¢ YRR & AR Aol ol 7 I

4. % 3[Ad Hic HH




Question Number : 186 Question Id : 97675530825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy o, fau M0 aR fasedl & 9, 39 faehed &1 904 B3 Sl f3U 7T gt & 312 1 99y U Y o Bl 5|
3¢ b 4g U Sfi]T

Options :

1. % 3¢ & Hg T ORI STaT

2. % 3fAd MM B

3. ¢ YRR & YR A BT 9 BT

4. % 3d Hid- HH

Question Number : 187 Question Id : 97675530826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S foU U geTak & 31 ol Ia9% U I oJad HRdl ¢ |
SR DI IR T

Options :

1. % PRI AT ST

2. A HAT

3. % fayrg &

4. % T QO HAT

Question Number : 187 Question Id : 97675530826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U oR fawedl & 9, 39 fadmen &1 997 &3 51 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |
SR I FLR T

Options :

1. ® PHIRT OGS T

2. ¢ Qi HRAT

3. % fayrg BT




4. ® Ty AT HAT

Question Number : 188 Question Id : 97675530827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec & g & fory I i ifar 1 = FifvTu
HYd UTe § g1 UG offd &

Options :

1. % 3O RISt 3evT g

2. % TAAWHR AR R

3. % Fia1 ugls Havah gfedl

4. ¢ BIER foRa™ & gId =i+ Urd

Question Number : 188 Question Id : 97675530827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T Trsal & IHg & forw Ifaa didifed &1 ag4 S|
qYd U § g UgaM S §

Options :

1. % 3O RITST 3T UHHI

2. % S H WA AR I R

3. % Wial UgTs v gfear

4. ¢ BIHeR foRaM & gid e+ urd

Question Number : 189 Question Id : 97675530828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ foRmH fIg & IR &1 uga™ SIfvT|

Options :

1. % JgfaR™




2. ¢ 3 faRM
3. % 3cgfaH
4. % quf fRm

Question Number : 189 Question Id : 97675530828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U foRmH g & IR &1 ugaH BIfv|

Options :

1. % IufoR™
2. ¥ 3 faRm
3. % 3fefavy
4. % qof frm

Question Number : 190 Question Id : 97675530829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & ¥, 39 fawen &1 7997 &3 S fou U geTak & 31 ol Yd9% U § odad Rl g |
foret o iy

Options :

1. ¢ dgd-"dgd -l

2. % T o qar

3. % gt H WER g

4. % fOE} B TS HAT

Question Number : 190 Question Id : 97675530829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%}ﬁé@ﬁt{%ﬁ,ﬁﬂﬂﬁﬁﬁﬁ,wﬁww BT T B ol 1T T JETaR & 3 P YA9F FU § oJad HRal g |




Options :

1. ¢ dgy--ed hRI

2. % TS & qar

3. % g/ WRER B
4. % TS} B TS HRAT

Question Number : 191 Question Id : 97675530830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & ¥, 39 fawen &1 997 & 5 fou U geTak & 31 ol Id9% U § odad Rl g |
HH T dd STABR 931

Options :

1. % GG A1 HR 1

2.« HEA G

3. % oS YT

4. % gffar g

Question Number : 191 Question Id : 97675530830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o1 9o 3 ot {3 70 gerer & 31 &1 Jd9§ ¥4 § oJad HRal g |
B H I STABR 931

Options :

1. % TIH FA1 HR &1
2. O ST

3. % $F YAl

4. % gffar g

Question Number : 192 Question Id : 97675530831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fohll & B B URgd B o o foo Torg o1 o faat STt 62
Options :

1. ® ggUq

2. ¥ JGXU

3. % ISl

4. % fqaruy

Question Number : 192 Question Id : 97675530831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit & U DI TRgd B o T4 T I T TRAINT T STl 62
Options :

1. % gHUQ

2. ¥ 3

3. % o

4. % fqaRur

Question Number : 193 Question Id : 97675530832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feard R & foU T IR faswmedl & 3 fadhed &1 7o &2 off T 7T geTar & 31 &l Jd9% U 9§ dd Hdl ¢ |
TqTsfhd X9 Siid & ferg A8 = fea

Options :

1. ¢ 3THT U T B o

2. % Hg dis oard faan

3. % gY Pl Aol

4. % Qial do SFTeh &

Question Number : 193 Question Id : 97675530832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e = # foU U IR fowed! & 39 fdmed &1 999 &2 Sl faU U geTak o otf &) a9y 0 ¥ ad axdl ¢ |
TT3ford ¥ St & ferg g= A faam|

Options :

1. ¢ 3IDHIR YT Th H fedr

2. % Hgdig oard faan

3. % Y Pl Hadl

4. % Il ddl S GaHT

Question Number : 194 Question Id : 97675530833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoiea & @ wree-gm & Ia) 3. N &1 997 FIfve-
fRRER

Options :

1. % Iar-deft

2. % I

3. ¢ SH-HUST

4. % WRIE-SITROT

Question Number : 194 Question Id : 97675530833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfRId o O <1ea-gm & Tt 31f-1E BT TG PIfo-
feRAR

Options :

1. % Iar-deft

2. % I¢IET

3. ¢ dH-HUST

4. % WRIE-SFROT

Question Number : 195 Question Id : 97675530834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweat & ¥, 39 fawen &1 7997 &3 S fou U geTak & 31 ol Id9% U § odad Rl g |
TR 1 E ST

Options :

1. % Wy fe@rs &

2. % Y Bt I BT

3. % pft i femg A e

4. ¢ St fears T

Question Number : 195 Question Id : 97675530834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁr@au&r\ﬁ, U 7T IR fawedi # 9, 39 faded &1 7= B3 o1 T T JETar & 3 &1 a9y ¥U § oJad Sl g |
TR &1 B Il

Options :

1. % W fawrg o

2. % Y HI ST AT

3. % it ot foams 1 &

4. ¢ S s

Sub-Section Number : 2
Sub-Section Id : 9767551566
Question Shuffling Allowed : Yes

Question Id : 97675530835 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TP TR fea 77T & 1 T o SR UR UTd U T Y § | T Ue dUT I U & IR fadmedl I 9 Ut fadwed g |

IS IIHT Bt T FRAR Fgd! off Yt 81 39 U™ &1 SR A9 &l &ﬂﬁaﬁﬁﬁ?ﬁ%ﬂ@rwéﬁ$m&mﬁ&mﬁaﬂﬁ$
forg e Pl FoR SMETh | sapiy TY SNefis T g, GﬁdlgHSﬂﬁﬂ‘l#ﬂTSO% PHIa SIS S BISd & orH SAR®T JafuR 7|
S&d ATUHT &1 GTH URUITH §HR S ) Sia @1 B arel Al U TS Ue o 1 3fe Udl el Ferd i auf sa ot ok
fp = AT &M | TTA ¢ ¥ fRATerd RfRRRY & frgem o) e aoll ¥ 9¢ &) 31 399 Afeat § Surer U Sem it &g &) gefied e




ST SR R AT ga=N o forg I SR | 711 DI Sia-g o arel T TARER 30 Hiex I1aH & & 3 Rigsd s gi gl 9%
frge @ WIHTd® 0 ¥ T & SR H gerd g il g, o] aoig I & ergsii 3R faftd adia <= & Sa- &1 Jav1 a1 g3 ]
SR H FeIasl & UTY-T1Y THET S &1 arad i Sgal o X818 | Himferds uRad= & Iry-ary eied aif § sladsd Hf w1t
THIFIT 81 3BT’ | 7 Rt Riefig 3R Siefi sia Siqait & sfess aeafaat § +ff &8 ulkad e 3 B Bl

Sub questions

Question Number : 196 Question Id : 97675530836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS QI & o1 ared 82

Options :

1. % IRI RB TR G

2. % WS H R & Gy RA T

3. % Gl o dYeH ol TRar &R

4.« Gl & qUHE T ORI g

Question Number : 197 Question Id : 97675530837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3T T S & S TGAUSH H THTHT 80 % I STZ3NIZS SIS & S8 JaraR ST S 32
Options :

1. % YRd

2. % T

3. ¢ ARSI

4. % fgeq

Question Number : 198 Question Id : 97675530838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TITHT b HRUT TARRR TS & U gIHHRS & I SITNUa 1 82
Options :

1. % 3 I TARER P I T8 B Y|



2. % 3§ U9 UgIS! 3dId H sRW ol & G|
3.+ Ugd ST 1A, b g&1 IS ST |
4. % 39 TS A TRHT 3R TRAT A TR ghft

Question Number : 199 Question Id : 97675530839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUGe TR BT XD F1d BT
Options :

1. ¢ A9 9 T@Ied g

2. % TS & 0 T areT

3. % Tl qTHT & AIH

4. % TARRR BT

Question Number : 200 Question Id : 97675530840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RGP T IR Y5 BT 3RR b THR g2
Options :

1. % g DI UM ST 8l S

2. % LY dc IR i Sitg TR S1a |

3. % YU & 3 SR YIST 3T ST |

4, IqHT O TR dT 3R Y IET I & S |

Question Id : 97675530835 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TP TR fea 7T & 1 T o SR UR e U T Y 7 | T Ue IUT IS U & IR fawed o 9 Ut fawen A |

Tl SET 1 G fAReR Sgell o 361 ¢ | §9 THET b1 BRI IS & ¢ | 311 arell Wit o & 68 T & S 30 3HRid Pl g &
fore Ta vl ForR Sl Sae i T i S g, GﬁdlgHSﬂﬁﬂ*H—l"T 80% PIa SIS BISd & forH AR FauR g
g ATIHT BT gRATH! TROITH FHR <=1 & Sila X1 HEe aret Hg TR TS U RN | 319 Ul 7et i 9 auf e Suht 3R
fpa oY XM | ATIHTH d6H @%ﬂmﬁﬁmﬁﬁﬂaﬁﬁaaﬁﬁ@r%?‘eﬁ%l O ATl H STeT Ut ST il 91 & Jeiad Ual




ST SR R AT ga=N o forg I SR | 711 DI Sia-g o arel T TARER 30 Hiex I1aH & & 3 Rigsd s gi gl 9%
frge @ WIHTd® 0 ¥ T & SR H gerd g il g, o] aoig I & ergsii 3R faftd adia <= & Sa- &1 Jav1 a1 g3 ]
SR H FeIasl & UTY-T1Y THET S &1 arad i Sgal o X818 | Himferds uRad= & Iry-ary eied aif § sladsd Hf w1t
THIFIT 81 3BT’ | 7 Rt Riefig 3R Siefi sia Siqait & sfess aeafaat § +ff &8 ulkad e 3 B Bl

Sub questions

Question Number : 196 Question Id : 97675530836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS QI & o1 ared 82

Options :

1. % IRI RB TR G

2. % WS H R & Gy RA T

3. % Gl o dYeH ol TRar &R

4.« Gl & qUHE T ORI g

Question Number : 197 Question Id : 97675530837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3T T S & S TGAUSH H THTHT 80 % I STZ3NIZS SIS & S8 JaraR ST S 32
Options :

1. % YRd

2. % T

3. ¢ ARSI

4. % fgeq

Question Number : 198 Question Id : 97675530838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TITHT b HRUT TARRR TS & U gIHHRS & I SITNUa 1 82
Options :

1. % 3 I TARER P I T8 B Y|



2. % 3§ U9 UgIS! 3dId H sRW ol & G|
3. ¥ Ugd d1¢ AT, fihr @1 ug S|
4. % 39 TS A TRHT 3R TRAT A TR ghft

Question Number : 199 Question Id : 97675530839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUGe TR BT XD F1d BT
Options :

1. ¢ A9 9 T@Ied g

2. % TS & 0 T areT

3. % Tl qTHT & AIH

4. % TARRR I

Question Number : 200 Question Id : 97675530840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RGP T IR Y5 BT 3RR b THR g2
Options :

1. % g5 &1 U1 ST 8l SIE|

2. % LY dc IR i Sitg TR S1a |

3. % YU & 3 SR YIST 3T ST |

4. v IGH] I WR I 3R <Y AT G- G S|




